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PROFESSIONAL EXAMINATION BOARD
Group­1 Post Graduate Selection Test 2016

20th March 2016, 09:00 AM
Topic:­ General Knowledge 
1)

Question Stimulus :­

General Knowledge

Who was the first women chief minister of Madhya Pradesh?/म鼈ᨅदॕष कॎ ᨅथम मोऻलॊ
मॏ꜊ मॠ�ॎ कग़न थॎ ॠ?

Meera Kumar/ मॎरॊ कॏ मॊर

Sushma Swaraj/  ॏऺहमॊ उरॊज

Uma Bharti/ उमॊ भॊरतॎ

Sarla Grewal / ऺरलॊ 瀅ॕशॊल

Correct Answer :­Uma Bharti/ उमॊ भॊरतॎ 

2)

Question Stimulus :­

General Knowledge

Which state is to the west of M.P.?/म. ᨅ. कॕ पो봅म म७ कग़न­ऺॊ रॊ甉 ऻॖ?

Goa/ गख़शॊ

Gujrat/ गॏजरॊत

Uttar Pradesh/ उर ᨅदॕष

Maharashtra/ मऻॊरॊစ३

Correct Answer :­Gujrat/ गॏजरॊत 

3)

Question Stimulus :­

General Knowledge
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General Knowledge

Which of the following district was not added to Madhya Pradesh in
1956?/ोन꤅ म७ ऺॕ कग़न­ऺॊ ोजलॊ 1956 म७ म鼈ᨅदॕष म७ ऺ瘂紈ोलत नऻॎ ॠ थॊ?

Bhopal/ भख़पॊल

Indore/ इॠदग़र

Gwalior/ 쐇ॊोलयर

Nagpur/ नॊगपॏर

Correct Answer :­Nagpur/ नॊगपॏर 

4)

Question Stimulus :­

General Knowledge

Who was the first Vidhan Sabha speaker of M.P.?/म. ᨅ. कॎ ोशधॊन ऺभॊ कॕ ᨅथम
ऺभॊपोत कग़न थॕ?

P Kunjilal dubey/ पॠ. कॏॠ जॎलॊल दॏबॕ

Tejlal Tembhare/तॕजलॊल टॕम् भरॕ

Gulsher Ahmad/ गॏलषॕर अऻमद

Srinivas Tiwari/ 餅ॎोनशॊऺ ोतशॊरॎ

Correct Answer :­P Kunjilal dubey/ पॠ. कॏॠ जॎलॊल दॏबॕ 

5)

Question Stimulus :­

General Knowledge

Which among the following is The Business capital of Madhya Pradesh?/
ोन꤅ ोल瘂खत म७ ऺॕ म鼈ᨅदॕष कॎ 䰈शऺॊोयक रॊजधॊनॎ कग़न­ऺॎ ऻॖ?

Bhopal/ भख़पॊल

Indore/ इॠदग़र

Gwalior/ 쐇ॊोलयर
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Jabalpur/ जबलपॏर

Correct Answer :­Indore/ इॠदग़र 

6)

Question Stimulus :­

General Knowledge

Which of the following is a District of Madhya Pradesh?/ ोन꤅ म७ ऺॕ कग़न­ऺॊ
म鼈ᨅदॕष कॊ एक ोजलॊ ऻॖ?

Agar Malwa/ आगर मॊलशॊ

Mhow/ मᄅ

Pipariya/ ोपप瘂रयॊ

Budhni/ बॏधनॎ

Correct Answer :­Agar Malwa/ आगर मॊलशॊ 

7)

Question Stimulus :­

General Knowledge

State Tribal museum is situated in: /रॊ甉 जनजॊतॎय  ॠऺ瀅ऻॊलय 瘂थत ऻॖ­

Bhopal/ भख़पॊल म७

Indore/ इॠदग़र म७

Jabalpur/ जबलपॏर म७

Guna/ गॏनॊ म७

Correct Answer :­Bhopal/ भख़पॊल म७ 

8)

Question Stimulus :­

General Knowledge 
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Old Vidhan sabha in Bhopal is also famous as which of the following name?/ भख़पॊल
म७ 瘂थत पॏरॊनॎ ोशधॊनऺभॊ और ोकऺ नॊम ऺॕ ोश꜊ॊत ऻॖ?

Edward Hall/ एडशड१ ऻॗल

Minto Hall/ ोमॠटख़ ऻॗल

Indira Hall/ इॠोदरॊ ऻॗल

Gandhi Hall/ गॊॠधॎ ऻॗल

Correct Answer :­Minto Hall/ ोमॠटख़ ऻॗल 

9)

Question Stimulus :­

General Knowledge

Which of the following is present in Mandu?/ ोन꤅ म७ ऺॕ मॊॠडॐ  म७ ܊ॊ 瘂थत ऻॖ?

Asharfi Palace/ अषरफॎ मऻल

Roopmati Palace/ 䐈पमतॎ मऻल

Jahaz Palace/ जऻॊि मऻल

All of the above/ ऊपरख़촉 ऺभॎ

Correct Answer :­All of the above/ ऊपरख़촉 ऺभॎ 

10)

Question Stimulus :­

General Knowledge

Ahilya Bai belongs to which of the following dynasty?/ अोऻ䴉ॊ बॊई ोन꤅ म७ ऺॕ
ोकऺ रॊजशॠष ऺॕ  ॠऺब蔇 ऻ॰?

Holkar/ ऻख़�र

Bhopal/ भख़पॊल

Scindia/ ो ॠऺोधयॊ

Tripuri/ ो�पॏरॎ
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Correct Answer :­Holkar/ ऻख़�र 

11)

Question Stimulus :­

General Knowledge

State planning Commission office of M.P. is situated in which building?/
म.ᨅ. म७ रॊ甉 यख़जनॊ आयख़ग कॊ कॊयॊ१लय ोकऺ भशन म७ 瘂थत ऻॖ?

Rajbhawan/ रॊजभशन

Pustak Building/ पॏ⌉क भशन

Vallabh Bhawan/ शभ भशन

Vindhyachal Bhawan/ ोशॠ鼈ॊचल भशन

Correct Answer :­Vindhyachal Bhawan/ ोशॠ鼈ॊचल भशन 

12)

Question Stimulus :­

General Knowledge

Jabalpur is famous as the _________capital of Madhya Pradesh?/ जबलपॏर
म鼈ᨅदॕष कॎ_______  रॊजधॊनॎ कॕ 䐈प म७ ᨅोऺ蔇 ऻॖ।

Business/ 䰈ॊपॊर

Music/  ॠऺगॎत

Tourism/ पय१टन

None/ कख़ई नऻॎ ॠ

Correct Answer :­None/ कख़ई नऻॎ ॠ 

13)

Question Stimulus :­

General Knowledge 

Which of the following city is famous as Holy city of Buddhist?/ोन꤅ म७ ऺॕ कग़न­ऺॊ षऻर
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बग़蔇 धम१ कॕ एक पोश� षऻर कॕ 䐈प म७ ोश꜊ॊत ऻॖ?

Sanchi/ ऺॊँचॎ

Khajuraho/ खजॏरॊऻख़

Vidisha/ ोशोदषॊ

Sagar/ ऺॊगर

Correct Answer :­Sanchi/ ऺॊँचॎ 

14)

Question Stimulus :­

General Knowledge 

Ami Kamni is associated with which sports?/ अमॎ कॊमनॎ ोकऺ खॕल ऺॕ  ॠऺब蔇 ऻॖ?

Softball/ ऺॗ︉बॗल

Snooker/ ᄇॐकर

Wushu/शॐषॐ

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Snooker/ ᄇॐकर 

15)

Question Stimulus :­

General Knowledge

Tawa Canal is present in which of following district?/ तशॊ नऻर ोन꤅ म७ ऺॕ ोकऺ
ोजलॕ म७ 瘂थत ऻॖ?

Hoshangabad/ ऻख़षॠगॊबॊद

Bhopal/ भख़पॊल

Guna/ गॏनॊ

Datia/ दोतयॊ
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Correct Answer :­Hoshangabad/ ऻख़षॠगॊबॊद 

Topic:­ General Hindi
1)

Question Stimulus :­

‘अद्भॏ त’ रऺ कॕ ऺ् थॊयॎ भॊश कॊ नॊम क् यॊ ऻॖ?

ोशऺ् मय

रोत

उत् ऺ ॊऻ

इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­ोशऺ् मय 

2)

Question Stimulus :­

Hindi

एक ऺॕ अोधक उपऺग瘂 ऺॕ बनॊ षब् द ऻॖ­

अनॊऻॊर

आऻॊर

ᨅॊचॊय१

ᨅऻॊर

Correct Answer :­अनॊऻॊर 

3)

Question Stimulus :­

Hindi

त謇श ष༈ कॊ चयन कॎोजए।

षकॏ न

शॊ
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䰈थॊ

बॖल

Correct Answer :­बॖल 

4)

Question Stimulus :­

Hindi

ोन꤅ म७ ऺॕ ोकऺ ष༈ कॎ रचनॊ ᨅय ऺॕ ᄅई ऻॖ?

ᨅोतकॐ ल

ᨅॊचॊय१

क॑पॊलॐ

उህम

Correct Answer :­क॑पॊलॐ 

5)

Question Stimulus :­

Hindi

ोऻ�ॎ शण१मॊलॊ म७ 䰈ॠजनख़ ॠ कॎ  ॠऺ꜊ॊ ोकतनॎ ऻॖ?

32

34

33

36

Correct Answer :­33 

6)

Question Stimulus :­

Hindi
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ोन꤅ ोशकख़ॠ म७ ोकऺॎ एक कॎ शत१नॎ षॏ蔇 ऻॖ, चयन कॎोजए।

मॏᄅ१त

मॏᄅत१

मᄅत१

मॏᄅत१

Correct Answer :­मॏᄅत१ 

7)

Question Stimulus :­

Hindi

ोन꤅ ोशकख़ॠ म७ ऺॕ षॏ蔇 शॊ܊ कॊ चयन कॎोजए?

एक फॐ लख़ ॠ कॎ मॊलॊ लॕ आइऐ।

फॐ लख़ ॠ कॎ मॊलॊ लॕ आइऐ एक।

फॐ लख़ ॠ कॎ एक मॊलॊ लॕ आईए।

फॐ लख़ ॠ कॎ मॊलॊ एक लॕ आईऐ।

Correct Answer :­फॐ लख़ ॠ कॎ एक मॊलॊ लॕ आईए। 

8)

Question Stimulus :­

Hindi

ोनम् नोल瘂खत शॊ܊ख़ॠ म७ ऺॕ  ॠऺदॕऻ शॊचक शॊक् य कॊ चयन कॎोजए।

परख़पकॊर ऻॎ मॊनशतॊ ऻॖ।

अब तक ऺब तॖयॊरॎ ऻख़ चॏकॎ ऻख़गॎ।

मॕरॎ बॊत मॊनख़ और ोदल लगॊ कर पुख़।

ऺ् शॊथ戂 श् य瘂촉 कख़ ोमञ नऻॎ बनॊनॊ चॊोऻए।

Correct Answer :­अब तक ऺब तॖयॊरॎ ऻख़ चॏकॎ ऻख़गॎ। 
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9)

Question Stimulus :­

Hindi

ोन꤅ोल瘂खत शॊ܊ म७ रॕखॊॠोकत ष༈ कॕ ोशलख़म ष༈ कॊ चयन कर 瘂र촉 थॊन भ瘂रए।

ऻम७ ऺॊ瘂딇क भख़जन करनॊ चॊोऻए, ______ भख़जन षरॎर कॕ ोलए ऻॊोनकॊरक ऻॖ।

ॠऺतॏोलत

तॊमोऺक

अ ॠऺतॏोलत

इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­तॊमोऺक 

10)

Question Stimulus :­

Hindi

ोन꤅ ᨅ餅 कॕ ष༈­ यॏ漈 कॕ ोशकख़ॠ म७ ऺॕ ऺऻॎ अथ१­भॕद कॊ चयन कॎोजए।

तरणॎ­तरोण

तरणॎ­मग़कॊ

मग़कॊ­नग़कॊ

ॐऺय१­नग़कॊ

नग़कॊ­ ॐऺय१

Correct Answer :­नग़कॊ­ ॐऺय१ 

11)

Question Stimulus :­

Hindi

“ोजऺकॎ लॊठॎ उऺकॎ भ॰ऺ” म७ ________ऺश१नॊम ऻॖ।
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पॏ䐈ह शॊचक

ोनज शॊचक

ऺ興ॠध शॊचक

ोन봅य शॊचक

Correct Answer :­ऺ興ॠध शॊचक 

12)

Question Stimulus :­

Hindi

‘अथ瘂पॊज१न’ ोकऺ  ॠऺोध कॊ उदॊऻरण ऻॖ?

दॎघ१ उर

गॏण उर

यण उर

अयॊोद उर

Correct Answer :­गॏण उर 

13)

Question Stimulus :­

Hindi

‘ोनम् नोल瘂खत षब् दख़ ॠ म७ कग़न­ऺॊ बᄅ䐅ॎोऻ’ ऺमॊऺ कॊ उदॊऻरण नऻॎ ॠ ऻॖ?

ो�लख़चन

ोशहधर

गजॊनन

ो�भॏशन

Correct Answer :­ो�भॏशन 

14)
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Question Stimulus :­

Hindi

“चरण कमल ऺम कख़मल” म७ चरण षब् द ऻॖ­

उपमॊन

उपमॕय

ऺॊधॊरण षब् द

शॊचक षब् द

Correct Answer :­उपमॕय 

15)

Question Stimulus :­

Hindi

ोन꤅ म७ ऺॕ ोकऺ ऺमॐऻ म७ ऺभॎ ष༈ ‘ऺमॏህ’ कॕ पयॊ१यशॊचॎ ऻ॰?

जलोध, ऺॊगर, ऺर, तरॠगॊ

अॠबॏोध, ोऺ﬇ॏ, उदोध, मऻॊण१श

उदोध, तीॊग, तरॠग, ऺर

ऺॊगर, ोऺ﬇ॏ, ऺॕतॏ, तरोन

Correct Answer :­अॠबॏोध, ोऺ﬇ॏ, उदोध, मऻॊण१श 

Topic:­ General English
1)

Question Stimulus :­

English

Choose the option which can be substituted for the given sentence.

One who is unable to pay his debts.

Wealthy.

Successful.
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Bankrupt.

Solvent.

Correct Answer :­Bankrupt. 

2)

Question Stimulus :­

English

Out of the given options choose the one with the correct spelling.

Judgement.

Judgment.

Judgemant.

Judgament.

Correct Answer :­Judgement. 

3)

Question Stimulus :­

English

Find out which part of the sentence has an error. If there is no error, mark
your answer as ‘No error’.

The enemy has received (a)/ many information’s regarding (b)/the
activities of the army (c)/of our neighboring countries. No error (d).

(a)

(b)

(c)

(d)

Correct Answer :­(b) 

4)
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Question Stimulus :­

English

Arrange the following sentences to form a logically coherent paragraph.

A. linked with lack of self­confidence.

B. Basically, for a child to understand a language,

C. Stammering is a habit disorder

D. there are four stages.

CBAD.

CABD.

BCDA.

DACB.

Correct Answer :­CABD. 

5)

Question Stimulus :­

English

Complete the following sentence by choosing the correct form of verb.

He has _____ a lot of courage during his times of adversity.

show

shows

showing

shown

Correct Answer :­shown 

6)

Question Stimulus :­

English
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Complete the following sentence by choosing the correct conjunction.

Tina was unwell, _____ she went shopping with her friends.

and

so

yet

therefore

Correct Answer :­yet 

7)

Question Stimulus :­

English

Complete the following sentence by choosing the most appropriate word
given below:

Would all those in favour please _______ their hands?

rays

raise

raze

race

Correct Answer :­raise 

8)

Question Stimulus :­

English

Complete the following sentence by choosing the correct preposition.

All the boys quarreled _________themselves.

among

between
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across

besides

Correct Answer :­among 

9)

Question Stimulus :­

English

Complete the following sentence by choosing the correct article.

I saw _______ one­eyed man yesterday.

the

an

a

No article required

Correct Answer :­a 

10)

Question Stimulus :­

English

Complete the following sentence by choosing the correct determiner.

I requested him to bring me________ books.

less

little

few

a few

Correct Answer :­a few 

11)
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Question Stimulus :­

English

Complete the following sentence by choosing the correct Phrasal Verb.

While giving evidence in the court, she ______.

broke up

broke into

broke down

broke off

Correct Answer :­broke down 

12)

Question Stimulus :­

English

Tick the option that has the same meaning as the word underlined in the sentence.

One must try to overcome adverse circumstances.

favorable

unfavorable

climatic

pleasant

Correct Answer :­unfavorable 

13)

Question Stimulus :­

English

Tick the word that is opposite in meaning to the word that is underlined.

Shakespeare was a prolific writer.

productive
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unproductive

popular

famous

Correct Answer :­unproductive 

14)

Question Stimulus :­

English

Complete the following sentence by choosing the correct modal.

She works hard so that she _____ pass.

might

may

should

shall

Correct Answer :­may 

15)

Question Stimulus :­

English

Complete the following sentence by choosing the correct order of
pronouns.

________ will watch movie tonight.

You, Sonal and I

Sonal, You and I

I , You and Sonal

I , sonal and you

Correct Answer :­You, Sonal and I 
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Topic:­ General Computer Knowledge
1)

Question Stimulus :­

Computer

Drum Pen is a type of­/ड३ म पॕन एक ᨅकॊर कॊ ______ ऻॖ।

Printer/ ोᨅॠटर

Plotter/ 절ॗटर

Scanner/ ㄋॖनर

Keyboard/ कॎ­बख़ड१

Correct Answer :­Plotter/ 절ॗटर 

2)

Question Stimulus :­

Computer

The process of verification for ‘Log­in­name’ and ‘Password’ is­/ लॗग­इन­नॕम तथॊ ‘पॊऺशड१’ कॕ
ऺॊपन कॎ ᨅो㼇यॊ ऻॖ­

Logging in/ लॗोगॠग इन

Certification/ ऺोट१ोफकॕषन

Authentication/ ऑथ७ोटकॕषन

Configuration/ कॗ瘂�ूगरॕषन

Correct Answer :­Authentication/ ऑथ७ोटकॕषन 

3)

Question Stimulus :­

Computer

Powerpoint is a­/पॊशरपॗइॠट ऻॖ एक­

Word Processor/ शड१ ᨅख़ऺॕऺर
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Spreadsheet Program/ ㈉ॖडषॎट ᨅख़瀅ॊम

Presentation Package/ ᨅॕज७टॕषन पॖकॕज

Database Management Package/ डॕटॊबॕऺ मॖनॕजम७ट पॖकॕज

Correct Answer :­Presentation Package/ ᨅॕज७टॕषन पॖकॕज 

4)

Question Stimulus :­

Computer

Which of the following is the physical path over which a message travels?/
ोन꤅ म७ ऺॕ कग़न ऺॊ भग़ोतक पथ ऻॖ, ोजऺऺॕ  ॠऺदॕष  ॠऺचॊ瘂रत (गोत) ऻख़तॊ ऻॖ?

Protocol/ ᨅख़टख़कॗल

Signal/ ोऺ瀅ल

Medium/ मॎोडयम

Pathway/ पॊथ­शॕ

Correct Answer :­Medium/ मॎोडयम 

5)

Question Stimulus :­

Computer

Which of the following refers to the physical arrangement of a network?/ ोन꤅ म७ ऺॕ कग़न­ऺॊ
नॕटशक१  कॎ भग़ोतक 䰈शथॊ कख़ दषॊ१तॊ ऻॖ?

Data flow/ डॕटॊ ᄋख़

Mode of operation/ मख़ड ऑफ ऑपरॕषन

Topology/ टख़पख़लॗजॎ

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Topology/ टख़पख़लॗजॎ 

6)
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Question Stimulus :­

Computer 

Protocol suite for the Current Internet is­/ शत१मॊन इॠटरनॕट कॕ ोलए ᨅख़टख़कॗल  ॐऺट ऻॖ­

TCP/IP/ टॎऺॎपॎ/आईपॎ

NCP/ एनऺॎपॎ

UNIX/ यॐोन鈊

ACM/ एऺॎएम

Correct Answer :­TCP/IP/ टॎऺॎपॎ/आईपॎ 

7)

Question Stimulus :­

Computer

______ layer is responsible for ‘process to process’ delivery?/ _____ लॕयर
‘ᨅख़ऺॕऺ टॐ  ᨅख़ऺॕऺ’ ोडोलशरॎ कॕ ोलए ोज紈ॕदॊर ऻख़तॎ ऻॖ?

Data link layer/ डॕटॊ ोलॠक लॕयर

Session layer/ ऺॕषन लॕयर

Transport layer/ ट३ ॊॠऺपख़ट१ लॕयर

Network layer/ नॕटशक१  लॕयर

Correct Answer :­Transport layer/ ट३ ॊॠऺपख़ट१ लॕयर 

8)

Question Stimulus :­

Computer

Logical design of database is known as­/ डॕटॊबॕऺ कॕ लॗोजकल ोडिॊइन कख़ कऻतॕ ऻ॰­

Database schema/ डॕटॊबॕऺ 䐈परॕखॊ

Database Instance/ डॕटॊबॕऺ इॠ�७ऺ

Database snapshot/ डॕटॊ ᄇॖपषॗट
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Database design/ डॕटॊबॕऺ ोडिॊइन

Correct Answer :­Database schema/ डॕटॊबॕऺ 䐈परॕखॊ 

9)

Question Stimulus :­

Computer

Which of the following can be taken as a primary key?/ ोन꤅ म७ ऺॕ कग़न­ऺॊ
ᨅॊथोमक कॏॠ जॎ कॕ 䐈प म७ ोलयॊ जॊ ऺकतॊ ऻॖ?

Name/नॊम

Id/आईडॎ

Street/ऺीक

Department/ोडपॊट१म७ट

Correct Answer :­Id/आईडॎ 

10)

Question Stimulus :­

Computer 

SDL stands for­/ एऺडॎएल कॊ पॐण१ 䐈प ऻॖ­

Storage discrete localisation/ �ख़रॕज ोड瘂ㄋट लख़कॕलॊइजॕषन

Storage definition localisation/ �ख़रॕज डॕोफनॕषन लख़कॕलॊइजॕषन

Storage definition language/ �ख़रॕज डॕोफनॕषन ल॰쐇ॕज

Storage discrete language/ �ख़रॕज ोड瘂ㄋट ल॰쐇ॕज

Correct Answer :­Storage definition language/ �ख़रॕज डॕोफनॕषन ल॰쐇ॕज 

Topic:­ General Science
1)

Question Stimulus :­

General Science
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What is PH value of human blood?/ मॊनश र촉 कॊ PH मॊन ोकतनॊ ऻख़तॊ ऻॖ?

7

7.2

7.4

7.8

Correct Answer :­

7.4 

2)

Question Stimulus :­

General Science

In a human body, the basic building block are­/ मॊनश षरॎर म७ मॏ꜊  ॠऺरचनॊᰈक इकॊई ऻॖ­

Muscles/ ᄇॊयॏ

Nerves/ न ७ऺ

Cells/ कख़ोषकॊय७

Bones/ ऻो訅यॊँ

Correct Answer :­Cells/ कख़ोषकॊय७ 

3)

Question Stimulus :­

General Science

Approximately how much time does a Sun ray take reaching Earth?/  ॐऺय१ ऺॕ प॑済ॎ तक ᨅकॊष
पᄅँचनॕ म७ ोकतनॊ ऺमय लगभग लगतॊ ऻॖ?

400 seconds/ 400 ऺॕकॠ ड

500 seconds/ 500 ऺॕकॠ ड

600 seconds/ 600 ऺॕकॠ ड

700 Seconds/ 700 ऺॕकॠ ड
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Correct Answer :­500 seconds/ 500 ऺॕकॠ ड 

4)

Question Stimulus :­

General Science

Which among the following molecule is rarely found in universe but abundant on earth?/
ोन꤅ म७ ऺॕ कग़न ऺॊ पदॊथ१ अॠत瘂र耆 म७ उप瘂थत नऻॎ ॠ ऻॖ, परĈॏ प॑済ॎ पर ᨅचॏर मॊ�ॊ म७ ऻॖ?

CO 2

O2

CH4

He

Correct Answer :­O2 

5)

Question Stimulus :­

General Science

Which of the following Kingdom represents bacteria?/ ोन꤅ म७ ऺॕ कग़न­ऺॊ जगत बॖ렉ॎ瘂रयॊ कॊ
ᨅोतोनोध딇 करतॊ ऻॖ?

Monera/ मख़नॕरॊ

Protista/ ᨅख़ोट�

Protozoa/ ᨅख़टख़जख़आ

Metazoa/मॕटॊजख़आ

Correct Answer :­Monera/ मख़नॕरॊ 

6)

Question Stimulus :­

General Science

Which among the following laws of Physics explain about the elliptical orbits of
planetary bodies?/ ोन꤅ म७ ऺॕ कग़न­ऺॊ भग़ोतक ोनयम 瀅ऻ­ोप）ख़ॠ कॕ परशलयॊकॊर क耆 कख़ ᨅदोष१त करतॊ ऻॖ?
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Newton's Law/ ഈॐटन कॊ ोनयम

Kepler's Law/ कॕपलर कॊ ोनयम

Snell's law/ ᄇॕल कॊ ोनयम

Coulomb's law/ कॏ ल ॠॗ興 कॊ ोनयम

Correct Answer :­Kepler's Law/ कॕपलर कॊ ोनयम 

7)

Question Stimulus :­

General Science

On which of the following the weight of a person will be minimum?/ ोन꤅ म७ ऺॕ कऻॊँ ोकऺॎ
䰈瘂촉 कॊ भॊर ഈॐनतम ऻख़गॊ?

Venus/ षॏ㼇

Mars/ मॠगल 瀅ऻ

Moon/ चॠህ्मॊ

Mercury/ पॊरॊ

Correct Answer :­Moon/ चॠህ्मॊ 

8)

Question Stimulus :­

General Science

The "Planetoids" are located between which of the following?/ अॠत瘂र耆 म७ “耆ॏህ瀅ऻ”, ोन꤅ म७ ऺॕ
ोकन कॕ बॎच उप瘂थत ऻख़तॕ ऻ॰?

Mars and Jupiter/ मॠगल और ब॑ऻ㈉ोत

Saturn & Jupiter/ षोन और ब॑ऻ㈉ोत

Mercury and Venus/ बॏध और षॏ㼇

Earth & Mars/ प॑済ॎ और मॠगल 瀅ऻ

Correct Answer :­Mars and Jupiter/ मॠगल और ब॑ऻ㈉ोत 
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9)

Question Stimulus :­

General Science

Deficiency of Tocopherol leads to sterility in males and females. The popular word for
Tocopherol is _____?/ टख़कख़ोफरॊल कॎ कमॎ नर श मॊदॊ म७ नपॏॠऺकतॊ उ꤇瘅 कर ऺकतॎ ऻॖ। टख़कख़ोफरॊल कख़
ऺॊमॊഈतॡ जॊनॊ जॊतॊ ऻॖ।

Vitamin B3/ ोशटॊोमन बॎ3

Vitamin K/ ोशटॊोमन कॕ

Vitamin E/ ोशटॊोमन ई

Vitamin C/ ोशटॊोमन ऺॎ

Correct Answer :­Vitamin E/ ोशटॊोमन ई 

10)

Question Stimulus :­

General Science

Water at 3.98o C has______./ जल 3.98o C कॊ पर _____ ऻख़तॊ ऻॖ।

minimum density/ ഈॐनतम घन딇

maximum density/ ऺशॊ१ोधक घन딇

maximum weight/ ऺशॊ१ोधक भॊर

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­maximum density/ ऺशॊ१ोधक घन딇 

11)

Question Stimulus :­

General Science

Which among the following is edible?/ ोन꤅ म७ ऺॕ कग़न­ऺॊ खॊनॕ यख़ᨈ ऻॖ?

Sodium Bicarbonate/ ऺख़ोडयम बॊइकॊब瘂नॕट

Sodium Carbonate/ ऺख़ोडयम कॊब瘂नॕट
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Sodium Dioxide/ ऺख़ोडयम डॊइऑ鈊ॊइड

Sodium Hydroxide/ ऺख़ोडयम ऻॊइड३ ॗ鈊ॊइड

Correct Answer :­Sodium Bicarbonate/ ऺख़ोडयम बॊइकॊब瘂नॕट 

12)

Question Stimulus :­

General Science

What does contain "Red Data Book”? / ” रॕड डॕटॊ बॏक” म७ ܊ॊ ऻख़तॊ ऻॖ?

Astrology/ खगख़ल षॊ鄉

Endangered wild plants, animals/ लॏ⤈ ऻख़नॕ शॊलॕ पॊदप श जॠतॏ कॎ  ॐऺचॎ

Communism/ ऺमॊजशॊदॎ

Endangered Forests/ लॏ⤈ᨅॊय जॠगल

Correct Answer :­Endangered wild plants, animals/ लॏ⤈ ऻख़नॕ शॊलॕ पॊदप श जॠतॏ कॎ  ॐऺचॎ 

13)

Question Stimulus :­

General Science

In context with Science and Technology development of China, what is Tianhe­I?/ ोश쀅ॊन श
ᨅग़嬆ख़ोगक कॕ ोशकॊऺ म७ चॎन कॊ ोतयॊनॕ­I ܊ॊ ऻॖ?

A satellite/ एक उप瀅ऻ

A space station/ एक अॠत瘂र耆 �ॕषन

A super computer/ एक  ॏऺपर क㸃ᰈॐटर

A proposed GPS/ एक ᨅ⌉ॊोशत जॎपॎएऺ

Correct Answer :­A super computer/ एक  ॏऺपर क㸃ᰈॐटर 

14)

Question Stimulus :­

General Science
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Which among the following can be measured with Anemometer?/ एनॎमख़मॎटर ऺॕ ोन꤅ म७ ऺॕ ܊ॊ
मॊपॊ जॊतॊ ऻॖ?

Water Velocity/ पॊनॎ कॊ शॕग

Wind Velocity/ पशन कॊ शॕग

Relative Humidity/ ऺॊपॕ耆 आህ१तॊ

Absolute Humidity/ ोनरपॕ耆 आህ१तॊ

Correct Answer :­Wind Velocity/ पशन कॊ शॕग 

15)

Question Stimulus :­

General Science

Which is the most abundant metal in the Earth's crust?/ प॑済ॎ कॎ ऺतऻ पर कग़न­
ऺॎ धॊतॏ ऺशॊ१ोधक पॊयॎ  जॊतॎ ऻॖ?

Silicon/ ोऺोलकन

Iron/ लख़ऻॊ

Aluminium/ ए䴉ॏोमोनयम

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Aluminium/ ए䴉ॏोमोनयम 

Topic:­ General Reasoning
1)

Question Stimulus :­

Logical Reasoning

In the following question, there is a certain relationship between two given words on
one side of :: and one word is given on another side of :: while another word is to be
found from the given alternative, having the same relation with this word as the words
of the given pair bear. Choose the correct alternative./नॎचॕ ोदए गए ᨅ餅 म७ ोच谇 (::) कॕ बॊॠई ओर दख़
पद ोदए गए ऻ॰। ोजनम७ आपऺ म७ एक ᨅकॊर ऺॕ कख़ई ऺ興﬇ ऻॖ, ठॎक इऺॎ ᨅकॊर कॊ ऺ興﬇ ोच谇 (::) कॕ दॊॠई और ोदए
गए पद तथॊ उऺकॕ नॎचॕ ोदए गए ोशकख़ॠ म७ ऺॕ ोकऺॎ एक पद कॕ बॎच म७ भॎ ऻॖ। शऻॎ ोशक कॊ पद उर ऻॖ। ऺऻॎ ोशक
कॊ चयन कर७।

Manipur : Imphal : : Rajasthan : ?/ मोणपॏर : इॠफॊल : : रॊजथॊन : ?
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Udaipur/ उदयपॏर

Ajmer/ अजमॕर

Jaipur/ जयपॏर

India/ भॊरत

Correct Answer :­Jaipur/ जयपॏर 

2)

Question Stimulus :­

Logical Reasoning

Pointing towards a boy, Sonam said, “He is the son of the only sister of my father”. How
is the boy related to sonam?/ एक लीकॕ कॎ और इषॊरॊ करतॕ ᄅए ऺख़नम नॕ कऻॊ, “शऻ मॕरॕ ोपतॊ कॎ इकलग़तॎ
बऻन कॊ बॕटॊ ऻॖ”। लीकॊ, ऺख़नम ऺॕ ोकऺ ᨅकॊर  ॠऺबॠोधत ऻॖ?

Nephew/ भतॎजॊ

Son/ पॏ�

Brother/ भॊई

Cousin/ कोिन

Correct Answer :­Cousin/ कोिन 

3)

Question Stimulus :­

Logical Reasoning

What is the angle traced by hour hand in 20 minutes?/ 20 ोमनट म७ घॠटॕ कॎ  ॏऺई
ोकतनॊ कख़ण बनॊएगॎ?

20o

10o

25o

75o
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Correct Answer :­10o 

4)

Question Stimulus :­

Logical Reasoning

If day before yesterday was Monday, when will be Saturday?/ योद बॎतॕ ᄅए कल कॕ पऻलॊ शॊलॊ
ोदन ऺख़मशॊर थॊ, तख़ षोनशॊर कब ऻख़गॊ?

Tomorrow/ आनॕ शॊलॊ कल

Day after tomorrow/ आनॕ शॊलॕ कल कॕ बॊद शॊलॊ ोदन

Two days after tomorrow/ आनॕ शॊलॕ कल कॕ दख़ ोदन बॊद

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Two days after tomorrow/ आनॕ शॊलॕ कल कॕ दख़ ोदन बॊद 

5)

Question Stimulus :­

Logical Reasoning  

From Parul’s home, she goes to her school which is 10 kms towards north. From there,
she turns right and goes 15 kms. After that she again turns right goes 5 kms and then
turns right and goes 15 kms. Now, how far is she from her starting point?/ पॊ젅ल अपनॕ घर ऺॕ
ㄋॐ ल जॊतॎ ऻॖ जख़ 10 ोकमॎ उर कॎ ओर ऻॖ। ोफर शऻ शऻॊँ ऺॕ दॊएॠ  मॏीतॎ ऻॖ और 15 ोकमॎ. जॊतॎ ऻॖ। इऺकॕ बॊद शऻ दॊएॠ
मॏीकर 5 ोकमॎ जॊतॎ ऻॖ और ोफर दॊएॠ  मॏीकर 15 ोकमॎ जॊतॎ ऻॖ। अब शऻ अपनॕ ᨅॊरॠ ोभक ोबॠदॏ ऺॕ ोकतनॎ दॐ र ऻॖ?

10 kms

25 kms

15 kms

5 kms

Correct Answer :­5 kms 

6)

Question Stimulus :­

Logical Reasoning
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In the following options, three of them are alike in a certain way and thus form a group.
Which one does not belong to that group?/ ोन꤅ ोशकख़ॠ म७ ऺॕ तॎन एक ोनो봅त तरॎकॕ ऺॕ ऺमॊन ऻ॰ और
इऺोलए एक ऺमॐऻ बनॊतॕ ऻ॰। कग़न­ऺॊ एक, इऺ ऺमॐऻ ऺॕ ऺ興瘂﬇त नऻॎ ॠ ऻॖ?

Black : 25

Orange : 36

Blue : 12

Magenta : 49

Correct Answer :­Blue : 12 

7)

Question Stimulus :­

Logical Reasoning  

In  the  given  arrangement, which  is  the  4th  letter/digit/symbol  to  the  right  of  the  14th
letter/digit/symbol from right end?/ दॎ गई 䰈शथॊ म७, दॊएँ छख़र ऺॕ 14श७ अ耆र/अॠक/ोच谇 कॕ दॊएँ ऺॕ 4थॊ
अ耆र/अॠक/ोच谇 कग़न ऺॊ ऻॖ?

4 7 I ? J 2 T @ # S 5 P Q % U & X C

#

S

7

@

Correct Answer :­# 

8)

Question Stimulus :­

Logical Reasoning

In a certain code language SHEEPS is written as TGFDQR , MOULDS is
written as NNVKER, then how will ORANGE be written in that code?/ ोकऺॎ
कॐ ट भॊहॊ म७, SHEEPS कख़ TGFDQR ोलखतॕ ऻ॰ , MOULDS  कख़ NNVKER ोलखतॕ ऻ॰, इऺ कॐ ट
म७ ORANGE कख़ कॖऺॕ ोलख७गॕ?

PQBMHD
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PSBOHF

PTDRML

QTCPIG

Correct Answer :­PQBMHD 

9)

Question Stimulus :­

Logical Reasoning

Which of the answer figures is exactly the mirror image of the given figure when the
mirror is held at PQ?/ कग़न ऺॎ उर आक॑ोत पॐण१ 䐈प ऺॕ दॎ गयॎ आक॑ोत कॊ दप१ण ᨅोतोब興 ऻॖ। जब दप१ण PQ
पर रखॊ गयॊ ऻॖ?

Question figure/ ᨅ餅 आक॑ोत

Answer figure/ उर आक॑ोत

(a)

(b)

(c)

(d)

Correct Answer :­(a) 

10)

Question Stimulus :­

Logical Reasoning
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What  will  come  in  place  of  the  question  mark  (?)  in  the  following  number  series?  /
ोन꤅ोल瘂खत  ॠऺ꜊ॊ ᨅणॊलॎ म७ ᨅ餅शॊचक ोच谇 (?) कॕ थॊन पर ܊ॊ आयॕगॊ?

1, 2, 5, 10, ?, 26, 37

15

12

17

24

Correct Answer :­17 

11)

Question Stimulus :­

Logical Reasoning

If the first and second letters of the word PREPARATIONS were inter­changed, also third
and fourth letter, fifth and sixth letter and so on, then which letter would be ninth from
left end?/ योद ष༈ PREPARATIONS म७ पऻलॕ और दॐऺरॕ अ耆र कख़ आपऺ म७ बदल ोलयॊ जॊए और इऺॎ तरऻ
तॎऺरॕ और चग़थॕ अ耆र कख़, पॊॠचशॕ और छटश७ अ耆र कख़ और इऺॎ तरऻ ऺॕ आगॕ, तख़ बॊएॠ  छख़र ऺॕ 9शॊँ अ耆र कग़न ऺॊ ऻख़गॊ ?

O

I

A

T

Correct Answer :­O 

12)

Question Stimulus :­

Logical Reasoning

Three positions of a dice is given. Which is the number opposite to 2?/ एक पॊॠऺॕ कॎ तॎन
瘂थोतयॊँ दॎ गयॎ ऻ॰। 2 कॕ ोशपरॎत कग़न ऺॊ अॠक ऻख़गॊ?
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1

5

6

4

Correct Answer :­5 

13)

Question Stimulus :­

Logical Reasoning

Seven children A, B, C, D, E, F, G are standing in a queue from top to
bottom. E is at fifth place. Only C is between A and B. G is at bottom. B is
three places after F. What is the position of D from top?/ ऺॊत ब䰈ॕ A, B, C, D,
E, F, G एक पॠ瘂촉 म७ ऊपर ऺॕ नॎचॕ  खीॕ ᄅए ऻ॰। E पॊॠचशॕ थॊन पर ऻॖ। कॕशल C, A और B कॕ बॎच म७
ऻॖ। G ऺबऺॕ नॎचॕ ऻॖ। B, F कॕ तॎन थॊन पॎछॕ ऻॖ। ऊपर ऺॕ D कॊ थॊन ܊ॊ ऻख़गॊ?

Fourth/ चग़थॊ

Sixth/ छटशॊँ

Second/ दॐऺरॊ

Last/ अॠोतम

Correct Answer :­Sixth/ छटशॊँ 

14)

Question Stimulus :­

Logical Reasoning

DIRECTIONS/ोनद८ष: In the question below are given two statements followed by two
conclusions numbered I and II. You have to take the given statements to be true even if
they seem to be at variance from commonly known facts. Read both the conclusions and
then decide which of the given conclusions logically follows from the given statements./
नॎचॕ ोदयॕ गए ᨅ餅 म७ दख़ कथन और उऺकॕ नॎचॕ दख़ ोन唊ह१ I और II ोदए गए ऻ॰। आपकख़ ोदए गए कथनख़ ॠ कख़ ऺ मॊननॊ
ऻॖ। भलॕ ऻॎ शॕ ऺश१쀅ॊत त눈ख़ॠ ऺॕ ोभ瘅त ᨅतॎत ऻख़। दख़नख़ ॠ ोन唊ह瘂 कख़ पोुए और ोफर तय कॎोजए ोक कग़न ऺॊ ोन唊ह१ ोदए
गए कथनख़ ॠ कॊ तक१   ॠऺगत 䐈प ऺॕ अनॏऺरण करतॊ ऻॖ।

 

Statements/कथन:
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All roses are flowers./ ऺभॎ गॏलॊब फॐ ल ऻ॰।

All flowers are trees./ ऺभॎ फॐ ल पॕी ऻ॰।

Conclusions/ोन唊ह१:

I. All trees are roses./ ऺभॎ पॕी गॏलॊब ऻ॰।

II. Some flowers are roses./ कॏ छ फॐ ल गॏलॊब ऻ॰।

If only Conclusion I follows/ योद कॕशल ोन唊ह१ I अनॏऺरण करतॊ ऻॖ

If only Conclusion II follows/ योद कॕशल ोन唊ह१ II अनॏऺरण करतॊ ऻॖ

If either Conclusion I or II follows/ योद यॊ तख़ ोन唊ह१ I यॊ II अनॏऺरण करतॊ ऻॖ

If both Conclusions I and II follow/ योद दख़नख़ ॠ ोन唊ह१ I और II अनॏऺरण करतॕ ऻ॰

Correct Answer :­If only Conclusion II follows/ योद कॕशल ोन唊ह१ II अनॏऺरण करतॊ ऻॖ 

15)

Question Stimulus :­

Logical Reasoning

Out of  the  five  figures  that  follow, you are  to  indicate which  figure will best  represent
the relationship amongst the three classes/ोन꤅ दॎ गई पॊॠच आक॑ोतयख़ ॠ म७ ऺॕ उऺ आक॑ोत कख़ चॏोनयॕ, जख़
इन तॎन शग瘂 कॕ बॎच ऺ興﬇ कख़ दषॊ१तॊ ऻॖ।

Colours, Yellow, Blue/ रॠग, पॎलॊ, नॎलॊ

(I)

(II)

(III)

(V)
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Correct Answer :­(III) 

Topic:­ General Maths
1)

Question Stimulus :­

Maths

In an examination, a student scores 1 marks for every correct answer and
loses 1/4 marks for every wrong answer. If he attempts in all 70 question
and secures 40 marks, then how many questions he attempted correctly?/
एक परॎ耆ॊ म७ एक छॊ� ᨅत् यॕक ऺऻॎ उत् तर कॕ ोलए 1 अॠक ᨅॊप् त करतॊ ऻॖ और ᨅत् यॕक गलत उत् तर कॕ
ोलए 1/4 अॠक कम ोकयॕ जॊतॕ ऻ॰। योद उऺनॕ कॏ ल 70 ᨅष् न ऻल ोकए और 40 अॠक ᨅॊप् त ोकयॕ, तख़
उऺनॕ ोकतनॕ ᨅष् न ऺऻॎ ऻल ोकयॕ?

42

46

52

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­46 

2)

Question Stimulus :­

Maths

Arrange the fractions  ,  ,  ,   in ascending order./ोभ瘅ख़ ॠ  ,  ,  ,    कख़ आरख़ऻॎ
㼇म म७ श् यश瘂थत कर७।

 <    <   < 

 <   <  < 

 <   <   < 

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­  <   <   <   
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3)

Question Stimulus :­

Maths 

In a forest which has only deer and humans. There are 80 heads and 230
legs. How many humans are there? /एक जॠगल म७ जऻॊँ कॕशल ोऻरण और मनॏह् य ऻ॰। शऻॊँ
80 ोऺर और 230 पॖर ऻ॰। शऻॊँ ोकतनॕ मनॏह् य ऻ॰?

40

25

35

45

Correct Answer :­45 

4)

Question Stimulus :­

Maths

A salesman bought toffees at 7 for a rupee. How many toffees for a rupee
he must sell to gain 40%?/ एक श् यॊपॊरॎ 1 젅पयॕ म७ 7 टॗफॎयॊँ खरॎदतॊ ऻॖ। शऻ 1 젅पयॕ म७
ोकतनॎ टॗफॎयॊँ बॕचॕ तॊोक  40% कॊ लॊभ ऻख़?

3

4

5

6

Correct Answer :­5 

5)

Question Stimulus :­

Maths 

A fruit seller had some bananas. He sold 20% bananas and still has 128
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bananas. How many bananas he had initially?/ एक फल ोश㼇ॕतॊ कॕ पॊऺ कॏ छ कॕलॕ
थॕ। उऺनॕ 20% कॕलॕ बॕच ोदए और ोफर भॎ उऺकॕ पॊऺ 128 कॕलॕ बचॕ ᄅए ऻ॰। उऺकॕ पॊऺ षॏ젅आत म७ ोकतनॕ
कॕलॕ थॕ?

156

160

176

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­160 

6)

Question Stimulus :­

Maths

At what rate of compound interest per annum will a sum of Rs.1200
become Rs.1323 in 2 years?/ ोकतनॕ ᨅोतषत शॊोह१क च㼇श॑瘂蔇 ब् यॊज कॎ दर ऺॕ 젅.1200,
2 शह१ म७ 젅.1323 ऻख़ जॊएँगॕ?

6%

4%

5%

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­5% 

7)

Question Stimulus :­

Maths

Rajesh and Shakshi are partners in a business. Rajesh invests Rs.35,000
for 8 months and Shakshi invests Rs.42,000 for 10 months. Out of a profit
of Rs.31,570 Rajesh’s share is (in Rupees)./रॊजॕष और ऺॊ耆ॎ एक 䰈शऺॊय म७
ऺॊझॕदॊर ऻ॰। रॊजॕष 8 मऻॎनॕ कॕ ोलए 젅.35000 ोनशॕष करतॊ ऻॖ और ऺॊ耆ॎ 10 मऻॎनॕ कॕ ोलए
젅.42,000 ोनशॕष करतॎ ऻॖ। कॏ ल लॊभ 젅.31,570 म७ रॊजॕष कॊ ोऻऺ् ऺ ॊ (젅पयॕ म७) ऻॖ:­

12,628
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14,060

16,162

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­12,628 

8)

Question Stimulus :­

Maths

A boy rides his bicycle 10 km at an average speed of 15 km/hr and again
travels 15 km at an average speed of 10 km/hr. His average speed (in
km/hr) for the Entire trip is:/एक लीकॊ 15 ोकमॎ/घॠटॕ कॎ गोत ऺॕ 10 ोकमॎ ऺॊइकल ऺॕ जॊतॊ ऻॖ
और पॏन: 10 ोकमॎ/घॠटॕ कॎ गोत ऺॕ 15 ोकमॎ जॊतॊ ऻॖ। पॐरॎ यॊ�ॊ कॕ ोलए उऺकॎ औऺत गोत (ोकमॎ/घॠटॕ म७)
ऻॖ:­

13

7

7

11

Correct Answer :­11  

9)

Question Stimulus :­

Maths

Pavan is twice efficient than Rakesh. If together they finish a piece of
work in 15 days. The number of days taken by Pavan alone to finish the
work is:/पशन कॎ कॊय१耆मतॊ रॊकॕष ऺॕ दख़गॏनॎ ऻॖ। योद दख़नख़ ॠ एक ऺॊथ ोकऺॎ कॊम कख़ 15 ोदन म७
कर ऺकतॕ ऻ॰ तख़ पशन कख़ अकॕलॕ कॊम ऺमॊप् त करनॕ म७ लगॕ ोदनख़ ॠ कॎ  ॠऺख् यॊ ऻॖ­

10

25
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22

27

Correct Answer :­22  

10)

Question Stimulus :­

Maths 

The average of 5 consecutive even number is 18. Find the largest
number./5 लगॊतॊर ऺम  ॠऺख् यॊओॠ कॊ औऺत 18 ऻॖ। ऺबऺॕ बीॎ  ॠऺख् यॊ 쀅ॊत कर७ ।

20

22

24

28

Correct Answer :­22 

11)

Question Stimulus :­

Maths

The speeds of three bus are in the ratio of 2:3:4 respectively .The ratio
between the time taken by them to travel the same distance is:/तॎन बऺख़ ॠ कॎ
गोत कॊ अनॏपॊत 㼇मष: 2:3:4 ऻॖ। ऺमॊन दॐ रॎ तय करनॕ म७ उनकॕ ህॊरॊ लगॕ ऺमय कॊ अनॏपॊत ऻॖ:

3:4:6

4:3:2

3:6:4

6:4:3

Correct Answer :­6:4:3 

12)
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12)

Question Stimulus :­

Maths

In what ratio water must be mixed with milk costing Rs.24 per liter to
obtain a mixture worth of Rs.16 per liter?/젅.24 ᨅोत लॎटर कॕ दॐ ध कॕ ऺॊथ ोकऺ
अनॏपॊत म७ पॊनॎ ोमलॊयॊ जॊए तॊोक ोम餅ण कॊ मॐल् य 젅.16 ᨅोत लॎटर ऻख़?

1:2

1:3

2:3

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­1:2 

13)

Question Stimulus :­

Maths

10 years ago, saloo was half of Rehan in age. If the ratio of their present
ages is 3:4, what is the present age of saloo (in years)?/10 शह१ पॐश१ षॊलॐ कॎ
आयॏ रॕऻॊन कॎ आयॏ कॎ आधॎ थॎ। योद उनकॎ शत१मॊन आयॏ कॊ अनॏपॊत 3:4 ऻॖ तख़ षॊलॐ कॎ शत१मॊन
आयॏ (शह१ म७) क् यॊ ऻॖ?

10

15

20

25

Correct Answer :­15 

14)

Question Stimulus :­

Maths 

The probability that a card drawn from a pack of 52 cards will be a king
is:/52 तॊष कॕ पत् तॕ कॎ ग訅ॎ ऺॕ ोनकॊलॕ गयॕ 1 पत् तॕ कॕ बॊदषॊऻ कॕ पत् तॕ ऻख़नॕ कॎ ᨅॊोयकतॊ ऻख़गॎ:
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1/52

1/26

1/13

1/9

Correct Answer :­1/13 

15)

Question Stimulus :­

Maths

Find the total surface area (in cm2) of a cone of height 24 cm and base diameter
14 cm./24 ऺॕमॎ ऊँचॊई और 14 ऺॕमॎ आधॊर कॕ श् यॊऺ शॊलॕ एक षॠकॏ  कॊ कॏ ल प॑ह् ठ 耆ॕ�फल (शग१ ऺॕमॎ म७)
쀅ॊत कर७ ।

704

550

812

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­704 

Topic:­ Business Administration
1)

Question Stimulus :­

Which of these are the sources of values?/ इनम७ ऺॕ मॐ䴉ख़ ॠ कॊ 섆ख़त ܊ॊ ऻ॰?

HALO Effect/ ᨅभॊमॠडल ᨅभॊश

ROLE effect/ भॐोमकॊ ᨅभॊश 

AURA effect/ आभॊ ᨅभॊश 

None of them/ इनम७ ऺॕ कख़ई भॎ नऻॎ ॠ

Correct Answer :­HALO Effect/ ᨅभॊमॠडल ᨅभॊश 
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2)

Question Stimulus :­

Which of the following are the disadvantages of Arithmetic mean?/
ोन꤅ोल瘂खत म७ ऺॕ कग़न ऺॊ अॠकगोणतॎय औऺत यॊ ऺॊमॊഈ औऺत कॊ नॏकऺॊन ऻॖ?

As a single number representing a whole data set/एक ऻॎ नॠबर
एक पॐरॕ डॕटॊ ऺॕट कॊ ᨅोतोनोध딇 करतॎ ऻॖ

Its concept is familiar to most people and intuitively clear/
इऺकॎ अशधॊरणॊ 甉ॊदॊतर लख़गख़ ॠ कख़ प瘂रोचत और ㈉စ ऻॖ

It reflects all the values in data set, it may also be affected by
extreme values that are not representative of the rest of data/
यऻ डॕटॊ ऺॕट म७ ऺभॎ मॐ䴉ख़ ॠ दषॊ१तॊ ऻॖ , यऻ भॎ चरम मॐ䴉ख़ ॠ ऻॖ, जख़ ोक डॕटॊ कॕ बॊकॎ कॕ
ᨅोतोनोध नऻॎ ॠ ऻ॰, ऺॕ ᨅभॊोशत ोकयॊ जॊ ऺकतॊ ऻॖ

Every data set has a mean/ऻर डॕटॊ ऺॕट एक औऺत ऻॖ

Correct Answer :­It reflects all the values in data set, it may also be
affected by extreme values that are not representative of the rest of data/
यऻ डॕटॊ ऺॕट म७ ऺभॎ मॐ䴉ख़ ॠ दषॊ१तॊ ऻॖ , यऻ भॎ चरम मॐ䴉ख़ ॠ ऻॖ, जख़ ोक डॕटॊ कॕ बॊकॎ कॕ ᨅोतोनोध नऻॎ ॠ ऻ॰,
ऺॕ ᨅभॊोशत ोकयॊ जॊ ऺकतॊ ऻॖ 

3)

Question Stimulus :­

Which of the following are not the advantages of MBO?/ ोन꤅ म७ ऺॕ कग़न ऺॕ MBO
कॕ लॊभ नऻॎ ॠ ऻ॰ ?

Improved performance/ अ눉ॊ ᨅदष१न

Greater sense of identification/ पऻचॊन कॎ बीॎ 耆मतॊ

No role ambiguity/ कख़ई भॐोमकॊ अ㈉စतॊ नऻॎ ॠ

Emphasis on short term goals/ लघॏ अशोध कॕ ल漉ख़ॠ पर जख़र

Correct Answer :­Emphasis on short term goals/ लघॏ अशोध कॕ ल漉ख़ॠ पर जख़र 

4)
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Question Stimulus :­

Which of the following are the aspects of “Work” under factors influencing
job satisfaction?/ ोन꤅ोल瘂खत म७ ऺॕ कग़न ऺॊ नग़करॎ ऺॕ  ॠऺतॏोစ कख़ ᨅभॊोशत करनॕ शॊलॕ कॊरकख़ ॠ कॕ
तऻत "कॊम" कॕ पऻलॏओ म७ ऺॕ ऻ॰?

Job scope/ नग़करॎ गॏॠजॊइष

Variety/ शॖरॊइटॎ

Work group/ कॊय१ ऺमॐऻ

Interesting work/ रख़चक कॊम

Correct Answer :­Work group/ कॊय१ ऺमॐऻ 

5)

Question Stimulus :­

Which of the following are not defined under characteristics of an enriched
job?/ ोन꤅ोल瘂खत  म७ ऺॕ कग़न ऺॊ एक ऺम॑蔇 नग़करॎ कॎ ोशषॕहतॊओॠ कॕ तऻत प瘂रभॊोहत नऻॎ ॠ ऻॖ?

Direct Feedback/ ऺॎधॎ ᨅोतो㼇यॊ

Client relationships/ 瀅ॊऻक  ॠऺबॠधख़ ॠ

New learning/ नयॊ ऺॎखनॕ

Less costly/ कम मऻॠगॊ

Correct Answer :­Less costly/ कम मऻॠगॊ 

6)

Question Stimulus :­

Which of the following are not the advantages of job enlargement?/ नग़करॎ
श॑瘂蔇 कॕ लॊभ म७ ऺॕ कग़न ऺॊ नऻॎ ॠ ऻॖ ?

Less employee­union arguments/ कम कम१चॊरॎ­ ॠऺघ तक१

Variety of tasks/ कॊय瘂 कॎ ोशोशधतॊ

optimum utilization of abilities/ 耆मतॊओॠ कॊ अोधकतम उपयख़ग

meaningful feedback/ ऺॊथ१क ᨅोतो㼇यॊ
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meaningful feedback/ ऺॊथ१क ᨅोतो㼇यॊ

Correct Answer :­Less employee­union arguments/ कम कम१चॊरॎ­ ॠऺघ तक१  

7)

Question Stimulus :­

Which of the following are theories of group formation?/ ोन꤅ म७ ऺॕ कग़न ऺमॐऻ
गठन कॕ ोऺ蔇ॊॠतख़ ॠ कॊ अनॏऺरण कर रऻॕ ऻ॰ ?

Homan’s theory/ ऻख़मॊन कॕ ोऺ蔇ॊॠत

Vroom’s theory/  ॐ̅म कॕ ोऺ蔇ॊॠत

Meclayor Theory/ म७कलयख़र 눈ख़रॎ

None of these/ इनम७ ऺॕ कख़ई भॎ नऻॎ ॠ

Correct Answer :­Homan’s theory/ ऻख़मॊन कॕ ोऺ蔇ॊॠत 

8)

Question Stimulus :­

Which are problems faced by informal groups?/ ोन꤅ म७ ऺॕ कग़न अनग़पचॊ瘂रक ऺमॐऻख़ ॠ
कख़ पॕष आ रऻॎ ऺम㐉ॊ ऻॖ?

Resistant to change/ बदलनॕ कॕ ोलए ᨅोतरख़धॎ

Role conflicts/ भॐोमकॊ  ॠऺघह१

Rumours/ अफशॊऻ७

All of the abave/ उपरख़촉 ऺभॎ

Correct Answer :­All of the abave/ उपरख़촉 ऺभॎ 

9)

Question Stimulus :­

Which of the following are not the factors of group behavior defined by
Gordan L. Lipit ?/ ोन꤅ोल瘂खत म७ ऺॕ कग़न­ऺॊ ऺमॐऻ कॕ 䰈शऻॊर कॊ कॊरक गॗड१न एल ोल瘂꤇ट
ህॊरॊ प瘂रभॊोहत नऻॎ ॠ ऻ॰?
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Group Background/ प॑စभॐोम ऺमॐऻ

Group rewards/ ऺमॐऻ पॏरㄋॊर

Group atmosphere/ ऺमॐऻ मॊऻग़ल

Group Cohesion/ ऺमॐऻ ऺॊमॠज㐉

Correct Answer :­Group rewards/ ऺमॐऻ पॏरㄋॊर 

10)

Question Stimulus :­

Which of the following third step of decision making process?/ ोनण१य लॕनॕ कॎ
ᨅो㼇यॊ कॊ तॎऺरॊ चरण ोन꤅ म७ ऺॕ कग़न ऺॊ ऻ॰?

Alternative courses of action/ कॊर१शॊई कॕ शॖक瘂क पॊ댊㼇म

Experience/ अनॏभश

Analysis of problems/ ऺम㐉ॊओॠ कॊ ोश戊ॕहण

Defining the problems/ ऺम㐉ॊओॠ कख़ प瘂रभॊोहत

Correct Answer :­Alternative courses of action/ कॊर१शॊई कॕ शॖक瘂क पॊ댊㼇म 

11)

Question Stimulus :­

CANCELLED

Which of the following is the technique of group decision making?/ ोन꤅ म७ ऺॕ
कग़न ऺमॐऻ ोनण१य लॕनॕ कॎ तकनॎक ऻॖ?

Delphi technique/ डॕलफॎ तकनॎक

Nominal group technique/ ऺॊमॊഈ 瀅ॏप तकनॎक

Fish bowling technique/ मछलॎ ग७दबॊजॎ तकनॎक

Regenerative technique/ पॏनय瘂जॎ तकनॎक

Correct Answer :­Regenerative technique/ पॏनय瘂जॎ तकनॎक 
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12)

Question Stimulus :­

What are the advantages of brain storming techniques of group decision
making?/ ऺमॐऻ ोनण१य लॕनॕ कॎ बॏ瘂蔇षॎलतॊ तकनॎक कॕ ܊ॊ फॊयदॕ ऻ॰?

Greater task orientation/ 瀅ॕटर कॊय१ कॎ ओर 젅ख

More scientific/ अोधक शॖ쀅ॊोनक

Less time taking/ कम ऺमय दॕनॕ कॕ ोलए

Members can be chosen randomly/ ऺद㐉ख़ॠ कख़ बॕतरतॎब ढॠग ऺॕ चॏनॊ जॊ
ऺकतॊ ऻॖ

Correct Answer :­Greater task orientation/ 瀅ॕटर कॊय१ कॎ ओर 젅ख 

13)

Question Stimulus :­

Which is not the element of communication?/ ोन꤅ म७ ऺॕ कग़न  ॠऺचॊर कॕ त딇 नऻॎ ॠ ऻॖ?

Communicator/  ॠऺचॊरक

Communiacatee/  ॠऺचॊर

Communication channel/ बॊतचॎत कॊ मॊ鼈म

Audience/ दष१क

Correct Answer :­Audience/ दष१क 

14)

Question Stimulus :­

Which of the following is the second stage in process communication?/ ोन꤅
म७ ऺॕ कग़न ऺॊ  ॠऺचॊर ᨅो㼇यॊ म७ दॐ ऺरॕ चरण म७ ऻॖ?

Measurement of idea/ ोशचॊर कॊ मॊपन

Selection of suitable media/ मॎोडयॊ उपयॏ촉 मॊ鼈म कॊ चयन
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Translation of idea/ ोशचॊर कॊ अनॏशॊद

encoding of the message/  ॠऺदॕष कॊ  ॠऺकॕतन

Correct Answer :­encoding of the message/  ॠऺदॕष कॊ  ॠऺकॕतन 

15)

Question Stimulus :­

Which is not the purpose of communication?/ ोन꤅ म७ ऺॕ कग़न  ॠऺचॊर कॕ उ䬅ॕ쨉 नऻॎ ॠ
ऻॖ?

To keep employees informed/ कम१चॊ瘂रयख़ ॠ कॎ जॊनकॊरॎ रखनॕ कॕ ोलए

To provide employees order and instructions/ कम१चॊ瘂रयख़ ॠ कख़ आदॕष
और ोनद८ष ᨅदॊन करनॕ कॕ ोलए

To reduce or prevent labour turnover/ 餅म कख़ कम करनॕ यॊ रख़कनॕ कॕ
ोलए

To hide some confidential matters/ कॏ छ गख़पनॎय मॊमलख़ ॠ कख़ छॏपॊनॕ कॕ
ोलए  

Correct Answer :­To hide some confidential matters/ कॏ छ गख़पनॎय मॊमलख़ ॠ कख़
छॏ पॊनॕ कॕ ोलए   

16)

Question Stimulus :­

Which is not defined under principles under effective communication?/ ोन꤅
म७ ऺॕ कग़न­ऺॊ ᨅभॊशॎ  ॠऺचॊर कॕ तऻत ोऺ蔇ॊॠतख़ ॠ म७ प瘂रभॊोहत नऻॎ ॠ ऻॖ?

Clarity and completeness of message/㈉စतॊ और  ॠऺदॕष कॎ पॐण१तॊ
ህॊरॊ

Message delivery with small pauses/ छख़टॎ 젅कॊशटख़ ॠ कॕ ऺॊथ  ॠऺदॕष
ोशतरण

Proper timing/ उोचत ऺमय

Principle of flexibility/ लचॎलॕपन कॊ ोऺ蔇ॊॠत
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Correct Answer :­Message delivery with small pauses/ छख़टॎ 젅कॊशटख़ ॠ कॕ ऺॊथ
ॠऺदॕष ोशतरण 

17)

Question Stimulus :­

Which of the following are defined as barriers of communication/ ोन꤅ म७ ऺॕ
कग़न  ॠऺचॊर कॎ बॊधॊओॠ कॕ 䐈प म७ प瘂रभॊोहत ऻॖ­

Barriers due to inadequate attention/ अपयॊ१⤈ 鼈ॊन कॕ कॊरण बॊधॊएॠ

Barriers due to improper audience/ अनॏोचत दष१कख़ ॠ कॕ कॊरण बॊधॊएॠ

Barriers due to relativity/ ऺॊपॕ耆तॊ कॕ कॊरण बॊधॊएॠ

None of these/ इनम७ ऺॕ कख़ई भॎ नऻॎ ॠ

Correct Answer :­Barriers due to inadequate attention/ अपयॊ१⤈ 鼈ॊन कॕ कॊरण
बॊधॊएॠ  

18)

Question Stimulus :­

Which is not the type of leaders?/ ोन꤅ म७ ऺॕ कग़न अोधनॊयक कॕ ᨅकॊर नऻॎ ॠ ऻॖ?

Autocratic style leader/ ोनरॠकॏ ष षॖलॎ  अोधनॊयक

Free­rein style leader/ उतॠ�­लगॊम षॖलॎ  अोधनॊयक

Participative style leader/ ऺऻभॊगॎ षॖलॎ  अोधनॊयक

Prohibition style leader/ ोनहॕध षॖलॎ  अोधनॊयक

Correct Answer :­Prohibition style leader/ ोनहॕध षॖलॎ  अोधनॊयक 

19)

Question Stimulus :­

Which is not defined under representative styles of leadership on the
managerial grid?/ ोन꤅ म७ ऺॕ कग़न ᨅबॠधकॎय ो瀅ड पर नॕत॑딇 कॕ ᨅोतोनोध षॖोलयख़ ॠ कॕ तऻत
प瘂रभॊोहत नऻॎ ॠ ऻॖ?
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Impoverished management/ गरॎब ᨅबॠधन

Country club management/ दॕष 댊ब ᨅबॠधन

Task Management/ कॊय१ ᨅबॠधन

Risk management/ जख़瘂खम ᨅबॠधन

Correct Answer :­Risk management/ जख़瘂खम ᨅबॠधन 

20)

Question Stimulus :­

Situational theory of leadership is also known as/ नॕत॑딇 कॎ 瘂थोतजഈ ोऺ蔇ॊॠत कख़
_____ कॕ 䐈प म७ भॎ जॊनॊ जॊतॊ ऻॖ।

Conditional theory of leadership/ नॕत॑딇 कॕ ऺषत१ ोऺ蔇ॊॠत

Regulatory theories of leadership/ नॕत॑딇 कॕ ोनयॊमक ोऺ蔇ॊॠत

Contingency theory of leadership/ नॕत॑딇 कॕ आक瘂搉क ोऺ蔇ॊॠत

Structural theory of leadership/ नॕत॑딇 कॕ  ॠऺरचनॊᰈक ोऺ蔇ॊॠत

Correct Answer :­Contingency theory of leadership/ नॕत॑딇 कॕ आक瘂搉क ोऺ蔇ॊॠत 

21)

Question Stimulus :­

Curve of nature of stress against performance is/ तनॊश ़ॊ ᨅदष१न कॕ ऺॊपॕ耆
ᨅॊक॑ोतक श㼇 ........... ऻख़तॊ ऻॖ।

Elliptical/ शलयॊकॊर

Parabola/ परशलय

Linear/ रॖ瘂खक

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Parabola/ परशलय 

22)
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Question Stimulus :­

Which of the following are not the sources of stress?/ ोन꤅ म७ ऺॕ कग़न तनॊश कॕ
섆ख़तख़ ॠ म७ ऺॕ नऻॎ ॠ ऻ॰?

Group stressors/ ऺमॐऻ तनॊश

Individual stressors/ 䰈瘂촉गत तनॊश

Organizational stressors/  ॠऺगठनॊᰈक तनॊश

Structural stressors/  ॠऺरचनॊᰈक तनॊश

Correct Answer :­Structural stressors/  ॠऺरचनॊᰈक तनॊश 

23)

Question Stimulus :­

Which of the following are not the factors of group stressors?/ ोन꤅ म७ ऺॕ कग़न
ऺमॐऻ तनॊश कॕ कॊरकख़ ॠ म७ ऺॕ नऻॎ ॠ ऻॖ?

Group cohesiveness/ ऺमॐऻ कॊ ऺॊमॠज㐉

Job concerns/ नग़करॎ कॎ ोचॠतॊओॠ

Conflicts/  ॠऺघह१

Lack of social support/ ऺॊमॊोजक ऺमथ१न कॊ अभॊश

Correct Answer :­Job concerns/ नग़करॎ कॎ ोचॠतॊओॠ 

24)

Question Stimulus :­

What are not the measures of organizational approaches defined under
coping strategies for stress?/ ोन꤅ म७ ऺॕ कग़न  तनॊश ऺॕ उबरनॕ कॎ रणनॎोत कॕ तऻत
प瘂रभॊोहत  ॠऺगठनॊᰈक प蔇ोत कॕ उपॊय नऻॎ ॠ ऻ॰?

Relaxation techniques/ ोश餅ॊम तकनॎक७

Goal setting/ ल漉 कॎ थॊपनॊ

Redesigning jobs/ नग़क瘂रयख़ ॠ कॎ पॏनर१चनॊ

Personal wellness programmes/ 䰈瘂촉गत क䴉ॊण कॊय१㼇मख़ ॠ
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Personal wellness programmes/ 䰈瘂촉गत क䴉ॊण कॊय१㼇मख़ ॠ

Correct Answer :­Relaxation techniques/ ोश餅ॊम तकनॎक७  

25)

Question Stimulus :­

Which of these are the characteristics of communication?/ ोन꤅ म७ ऺॕ कग़न ऺॕ
ॠऺचॊर कॕ ल耆ण ऻ॰?

It can occur with one person only/ यऻ कॕशल एक ऻॎ 䰈瘂촉 कॕ ऺॊथ ऻख़
ऺकतॊ ऻॖ

Its primary purpose is just to attract people/ इऺकॊ ᨅॊथोमक उ䬅ॕ쨉
ोऺफ१  लख़गख़ ॠ कख़ आकोह१त करनॊ ऻॖ

It communication may be written and oral/ यऻ  ॠऺचॊर ोल瘂खत और
मग़瘂खक ऻख़ ऺकतॊ ऻॖ

Communication can only be informal/  ॠऺचॊर कॕशल अनग़पचॊ瘂रक ऻख़
ऺकतॊ ऻॖ

Correct Answer :­It communication may be written and oral/ यऻ  ॠऺचॊर ोल瘂खत
और मग़瘂खक ऻख़ ऺकतॊ ऻॖ 

26)

Question Stimulus :­

Which of these is not defined under classification of communication?/ इनम७
ऺॕ कग़न  ॠऺचॊर कॕ शग戂करण कॕ तऻत प瘂रभॊोहत नऻॎ ॠ ऻ॰? 

On the basis of organizational structure/  ॠऺगठनॊᰈक  ॠऺरचनॊ कॕ
आधॊर पर 

On the basis of sender/ भॕजनॕ शॊलॕ कॕ आधॊर पर 

On the basis of flow or direction/ ᨅशॊऻ यॊ ोदषॊ कॕ आधॊर पर 

On the basis of media used/ इ⌉ॕमॊल ोकयॕ मॎोडयॊ कॕ आधॊर पर 

Correct Answer :­On the basis of sender/ भॕजनॕ शॊलॕ कॕ आधॊर पर  
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27)

Question Stimulus :­

Informal communication is also known as­/ अनग़पचॊ瘂रक  ॠऺचॊर______ कॕ 䐈प म७
भॎ जॊनॊ जॊतॊ ऻॖ।

Strict communication/ ऺ᠋  ॠऺचॊर

Rhetoric communication/ बयॊनबॊजॎ  ॠऺचॊर

Grapevine communication/ चचॊ१  ॠऺचॊर

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Grapevine communication/ चचॊ१  ॠऺचॊर 

28)

Question Stimulus :­

CANCELLED

Which of these is example of upward communication?/ इनम७ ऺॕ कग़न ऺॊ
ऊ椈१गॊमॎ  ॠऺचॊर कॊ उदॊऻरण ऻॖ?

Reports/ 瘂रपख़ट१

Complaints/ ोषकॊयत७

Bulletins/ बॏलॕोटन

Conferences/ ऺ紈ॕलन

Correct Answer :­Bulletins/ बॏलॕोटन 

29)

Question Stimulus :­

Which of these is not classified on the basis of media and expression?/
इनम७ ऺॕ जख़ मॎोडयॊ और अोभ䰈瘂촉 कॕ आधॊर पर शग戂क॑त नऻॎ ॠ ऻॖ?

Written communication/ ोल瘂खत  ॠऺचॊर

Sideward communication/ बगल कॎ ओर  ॠऺचॊर
Oral communication/ मग़瘂खक  ॠऺचॊर
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Oral communication/ मग़瘂खक  ॠऺचॊर

Gestural communication/ ऺॊॠकॕोतक  ॠऺचॊर

Correct Answer :­Sideward communication/ बगल कॎ ओर  ॠऺचॊर 

30)

Question Stimulus :­

Effective written communication should be/ ᨅभॊशॎ ोल瘂खत  ॠऺचॊर ____ ऻख़नॊ
चॊोऻए।

Clear/ ㈉စ            

Concise/  ॠऺो耆⤈

Correct/ ऺऻॎ

All of the above/ उपरख़촉 ऺभॎ

Correct Answer :­All of the above/ उपरख़촉 ऺभॎ 

31)

Question Stimulus :­

What are not the merits of written communication?/ ोल瘂खत  ॠऺचॊर कॎ खॐोबयख़ ॠ म७
ॊ नऻॎ܊ ॠ ऻॖ?

It provides a permanent record of communication for future
references/ यऻ भोशᰈ म७  ॠऺदभ१ कॕ ोलए  ॠऺचॊर कॊ एक थॊयॎ 瘂रकॊड१ करतॊ ऻॖ

It provides little risk of unauthorized alteration in the
message/ यऻ  ॠऺदॕष म७ अनोधक॑त प瘂रशत१न कॊ कम जख़瘂खम ᨅदॊन करतॊ ऻॖ

It is the way of transmitting lengthy message/ यऻ लॠबॊ  ॠऺदॕष ᨅॕोहत
कॊ तरॎकॊ ऻॖ

It is very formal and lacks personal touch/ यऻ बᄅत औपचॊ瘂रक और
ोनजॎ ㈉ष१ कॊ अभॊश ऻॖ

Correct Answer :­It is very formal and lacks personal touch/ यऻ बᄅत
औपचॊ瘂रक और ोनजॎ ㈉ष१ कॊ अभॊश ऻॖ 
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32)

Question Stimulus :­

Which of the following are the advantages of oral communication?/ ोन꤅ म७
ऺॕ कग़न­ऺॊ मग़瘂खक  ॠऺचॊर कॕ लॊभ ऻ॰?

It is influenced by self interest/ यऻ उयॠ कॕ ोऻत ऺॕ ᨅभॊोशत ऻॖ

It is influenced by attitude of the people / यऻ लख़गख़ ॠ कॕ रशॖयॕ ऺॕ
ᨅभॊोशत ऻॖ

It is suitable for lengthy message/ यऻ लॠबॊ  ॠऺदॕष कॕ ोलए उपयॏ촉 ऻॖ

Misunderstandings can be cleared then and there/ ालतफऻमॎ कख़
तॏरॠत यथॊथॊन दॐ र ोकयॊ जॊ ऺकतॊ ऻॖ

Correct Answer :­Misunderstandings can be cleared then and there/
ालतफऻमॎ कख़ तॏरॠत यथॊथॊन दॐ र ोकयॊ जॊ ऺकतॊ ऻॖ 

33)

Question Stimulus :­

Verbal communication is ineffective media of conveying/ मग़瘂खक  ॠऺचॊर  ॠऺदॕष
_____ ᨅकट करनॕ कॕ ोलए अᨅभॊशॎ मॊ鼈म ऻॖ।

Ideas/ ोशचॊर

Feelings/ भॊशनॊ

Suggestions/  ॏऺझॊश

Reports/ 瘂रपख़ट१

Correct Answer :­Reports/ 瘂रपख़ट१ 

34)

Question Stimulus :­

______ is a decision making process among interdependent parties who
do not share identical preferences./ ______ , एक अഈख़ഈॊो餅त दलख़ ॠ कॕ बॎच एक
ोनण१य लॕनॕ कॎ ᨅो㼇यॊ ऻॖ जख़ ऺमॊन शरॎयतॊओॠ कॊ ोऻ∊ॊ नऻॎ ॠ ऻॖ।
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Negotiation/ बॊतचॎत

Discussion/ ोशचॊर­ोशमष१

Prohibition/ ोनहॕध

Judgement/ ोनण१य

Correct Answer :­Negotiation/ बॊतचॎत 

35)

Question Stimulus :­

Which of the following questions is not answered by preparation and
planning of negotiation process?/ ोन꤅ म७ ऺॕ ोकऺ ᨅ餅 कॊ उर तॖयॊरॎ एशॠ बॊतचॎत
ᨅो㼇यॊ कॎ यख़जनॊ ህॊरॊ जशॊब नऻॎ ॠ ोदयॊ जॊ ऺकतॊ?

Nature of the conflicts/  ॠऺघह१ कॎ ᨅक॑ोत

Causes of negotiation/ बॊतचॎत कॕ कॊरण

Goals of consumers/ उपभख़촉ॊओॠ कॊ ल漉

Goals of parties involved/ पॊोट१यख़ ॠ कॊ ल漉 षॊोमल

Correct Answer :­Goals of consumers/ उपभख़촉ॊओॠ कॊ ल漉 

36)

Question Stimulus :­

Which of the following are not the issues in negotiation?/ बॊतचॎत कॕ मॏ䬅ख़ ॠ म७ ऺॕ
कग़न ऺॊ नऻॎ ॠ ऻॖ?

Biases hindering negotiation/ पॐशॊ१瀅ऻख़ ॠ बॊतचॎत ोनरख़धक

Role of personality traits/ 䰈瘂촉딇 ल耆ण कॎ भॐोमकॊ

Cultural differences/ ऺॊॠㄋ॑ोतक मतभॕद

Cultural closures/ ऺॊॠㄋ॑ोतक बॠदॎ 

Correct Answer :­Cultural closures/ ऺॊॠㄋ॑ोतक बॠदॎ  
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37)

Question Stimulus :­

National frame policy was framed in _____ for forest management in view
of the rapidly vanishing forests./ रॊစ३ ॎय 瘇ॕम नॎोत कख़, तॕजॎ ऺॕ कटतॕ जॠगलख़ ॠ कॕ म䬅ॕनजर
शन ᨅबॠधन कॕ ोलए _____ म७ बनॊयॊ गयॊ थॊ।

1988

1986

1987

1983

Correct Answer :­1988 

38)

Question Stimulus :­

Indian institute of forest management is located in _____/ भॊरतॎय शन ᨅबॠधन
ॠऺथॊन _____ म७ 瘂थत ऻॖ।

Raipur/ रॊयपॏर

Dehradun/ दॕऻरॊदॐ न

Jhabua/ झॊबॏआ

Bhopal/ भख़पॊल

Correct Answer :­Bhopal/ भख़पॊल 

39)

Question Stimulus :­

National Environment tribunal Bill was passed for/ रॊစ३ ॎय पयॊ१शरण ഈॊयॊोधकरण
ोशधॕयक _____ कॕ ोलए पॊ瘂रत ोकयॊ गयॊ थॊ।

Damages due to accident while handling any hazardous
substance/ ऽतरनॊक पदॊथ१ कख़ रखनॕ पर ᄅई दॏघ१टनॊ कॕ नॏकऺॊन

Damages due to deforestation/ शनख़ ॠ कॎ कटॊई कॕ कॊरण ऻजॊ१नॕ
Damages due to Green house effect/ 瀅ॎन ऻॊउऺ ᨅभॊश कॕ कॊरण ऻजॊ१नॕ
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Damages due to Green house effect/ 瀅ॎन ऻॊउऺ ᨅभॊश कॕ कॊरण ऻजॊ१नॕ

Air pollution from industries/ उ嬆ख़गख़ ॠ ऺॕ शॊयॏ ᨅदॐ हण

Correct Answer :­Damages due to accident while handling any hazardous
substance/ ऽतरनॊक पदॊथ१ कख़ रखनॕ पर ᄅई दॏघ१टनॊ कॕ नॏकऺॊन 

40)

Question Stimulus :­

Indian forest act 1980 – national forest policy is/ भॊरतॎय शन अोधोनयम 1980 ­
रॊစ३ ॎय शन नॎोत ऻॖ

Prohibits state government from declaring any portion of
forest as non reserved without approval of central
government/ क७ ህ ऺरकॊर कॎ मॠजॐरॎ ोबनॊ जॠगल कॕ ोकऺॎ भॎ ोऻ∊ॕ कख़ गॖर
आरो耆त घख़ोहत करनॕ ऺॕ रॊ甉 ऺरकॊर कख़ ᨅोतबॠोधत करतॎ ऻॖ

Prohibits state government for allotting any forestland or any
portion there of for any non forest purpose/ एक शन यॊ शऻॊँ कॕ
ोकऺॎ भॎ ोऻ∊ॕ कख़ ोकऺॎ भॎ गॖर शन उ䬅ॕ쨉 कॕ आशॠटन कॕ ोलए रॊ甉 ऺरकॊर कख़
ᨅोतबॠोधत करतॎ ऻॖ

Both of them/ उपरख़촉 दख़नख़ ॠ

None of these/ इनम७ ऺॕ कख़ई भॎ नऻॎ ॠ

Correct Answer :­Both of them/ उपरख़촉 दख़नख़ ॠ 

41)

Question Stimulus :­

Environment Protection Act empowered the _____ to issue orders for
closing down industries for non compliance/ पयॊ१शरण  ॠऺर耆ण अोधोनयम,  गॖर
अनॏपॊलन कॕ ोलए, उ嬆ख़गख़ ॠ कख़ बॠद करनॕ कॕ आदॕष जॊरॎ करनॕ कॕ _____ कख़ ऺष촉 करतॊ ऻॖ

Central Government/ क७ ህ ऺरकॊर

Chair person of industrial chambers/ औ嬆ख़ोगक क耆ख़ॠ कॎ चॕयर 䰈瘂촉

High court/ उ䰈 ഈॊयॊलय

None of these/ इनम७ ऺॕ कख़ई भॎ नऻॎ ॠ
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None of these/ इनम७ ऺॕ कख़ई भॎ नऻॎ ॠ

Correct Answer :­Central Government/ क७ ህ ऺरकॊर 

42)

Question Stimulus :­

Analysis of any possible change in the environmental quality, adverse or
beneficial, caused by a developmental project of government or private
company is known as _____/ पयॊ१शरण कॎ गॏणशॊ म७ ोकऺॎ भॎ  ॠऺभॊोशत प瘂रशत१न कॊ 
ोश戊ॕहण, ᨅोतकॐ ल यॊ फॊयदॕमॠद ऻॖ, ऺरकॊर यॊ ोनजॎ कॠ पनॎ कॕ एक ोशकॊऺ प瘂रयख़जनॊ कॕ कॊरण कॕ
䐈प म७ जॊनॊ जॊतॊ ऻॖ, _____ कऻतॕ ऻ॰ |

Environmental effect/ पयॊ१शरण ᨅभॊश

Environmental impact assessment/ पयॊ१शरण ᨅभॊश आकलन

Environmental resistance/ पयॊ१शरण ᨅोतरख़ध

All of these/ उपरख़촉 ऺभॎ

Correct Answer :­Environmental impact assessment/ पयॊ१शरण ᨅभॊश आकलन 

43)

Question Stimulus :­

Which of the following is not related with ozone layer depletion?/ ोन꤅ोल瘂खत
म७ ऺॕ कग़न ऺॊ ओजख़न परत 瘂र촉ॎकरण कॕ ऺॊथ  ॠऺबॠोधत नऻॎ ॠ ऻॖ?

Montreal Protocol/ मॗ瘂�३ यल ᨅख़टख़कॗल

London conference/ लॠदन ऺ紈ॕलन

Helsinki/ ऻॕलो ॠऺकॎ

Rio conference/瘂रयख़ ऺ紈ॕलन

Correct Answer :­Rio conference/瘂रयख़ ऺ紈ॕलन 

44)

Question Stimulus :­

Which of the following is not the origin of pollutants in estuaries?/
ोन꤅ोल瘂खत म७ ऺॕ कग़न ऺॊ 脉ॊरनदमॏख म७ ᨅदॐ हण कॎ उ꤇ो नऻॎ ॠ ऻॖ?
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ोन꤅ोल瘂खत म७ ऺॕ कग़न ऺॊ 脉ॊरनदमॏख म७ ᨅदॐ हण कॎ उ꤇ो नऻॎ ॠ ऻॖ?

Aquatic plants/ जलॎय पग़धख़ ॠ

Organic waste/ जॖोशक अपोषစ

Heavy metals/ भॊरॎ धॊतॏओॠ

Thermal waste/ थम१ल बबॊ१दॎ

Correct Answer :­Aquatic plants/ जलॎय पग़धख़ ॠ 

45)

Question Stimulus :­

The organic content of waste water or a stream water is determined using
the following test:/ अपोषစ जल कॕ जॖोशक ऺॊम瀅ॎ यॊ एक धॊरॊ पॊनॎ ोन꤅ोल瘂खत परॎ耆ण कॊ
उपयख़ग ोनधॊ१瘂रत ोकयॊ जॊतॊ ऻॖ:

ROD

NOD

COD

LOD

Correct Answer :­COD 

46)

Question Stimulus :­

The transformation process in water bodies includes/ जल ोनकॊयख़ ॠ म७ प瘂रशत१न कॎ
ᨅो㼇यॊ म७ षॊोमल

Influent “clean” flows improved DO/ ऺऻॊयक नदॎ "ऺॊफ" ᨅशॊऻ म७
ॏऺधॊर करतॕ ऻ॰

Respiration/ 餅ऺन

Reduction of BOD by solid settling/ ठख़ऺ पटनॕ ऺॕ बॎओडॎ कॎ कमॎ

All of these/ उन ऺभॎ कख़
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Correct Answer :­All of these/ उन ऺभॎ कख़ 

47)

Question Stimulus :­

The major green house gases in order of green house contribution are:/
瀅ॎन ऻॊउऺ यख़गदॊन कॕ 㼇म म७ ᨅमॏख 瀅ॎन ऻॊउऺ गॖऺख़ ॠ रऻॕ ऻ॰:

CO2, CFCs, CH4, N2O, NO2

CO2, CH4, N2O, NO2, CFCs

CH4,CO2, CFCs, , N2O, NO2

CFCs, CO2, CH4, N2O, NO2

Correct Answer :­CO2, CFCs, CH4, N2O, NO2 

48)

Question Stimulus :­

Which of the following are not Air Pollution meteorological influencing
factors/ ोन꤅ म७ ऺॕ कग़न ऺॊ शॊयॏ ᨅदॐ हण मग़ऺम कख़ ᨅभॊोशत करनॕ शॊलॕ कॊरकख़ ॠ म७ ऺॕ नऻॎ ॠ ऻ॰?

Temperature and humidity/ तॊपमॊन और आህ१तॊ

Atmospheric stability/ शॊयॏमॠडलॎय 瘂थरतॊ

Turbulence/ अषॊॠोत

All of them are the factors/ शॕ ऺब कॕ ऺब कॊरक ऻ॰

Correct Answer :­All of them are the factors/ शॕ ऺब कॕ ऺब कॊरक ऻ॰ 

49)

Question Stimulus :­

Which is not the part of management involvement of waste minimization
strategy?/ कग़न ऺॊ अपोषစ ഈॐनॎकरण रणनॎोत कॕ ᨅबॠधन कॎ भॊगॎदॊरॎ कॊ ोऻ∊ॊ नऻॎ ॠ ऻॖ?

Policy statement/ नॎोत श촉䰈
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Management involvement/ ᨅबॠधन कॎ भॊगॎदॊरॎ

Setting of goals/ ल漉ख़ॠ कॕ ोनधॊ१रण

Environmental guidelines/ पयॊ१शरण कॕ ोदषॊ ोनद८षख़ ॠ

Correct Answer :­Setting of goals/ ल漉ख़ॠ कॕ ोनधॊ१रण 

50)

Question Stimulus :­

Where WAN can be used?/ कऻॊँ शॖन कॊ इ⌉ॕमॊल ोकयॊ जॊ ऺकतॊ ऻॖ?

Small geographical area/ छख़टॕ भग़गख़ोलक 耆ॕ�

Large Geographical area/ बीॕ भग़गख़ोलक 耆ॕ�

Over a city/ एक षऻर कॕ ऊपर

Anywhere/ कऻॎ ॠ भॎ

Correct Answer :­Large Geographical area/ बीॕ भग़गख़ोलक 耆ॕ� 

51)

Question Stimulus :­

Which of the following is not the output device?/ ोन꤅ोल瘂खत म७ ऺॕ कग़न ऺॊ
आउटपॏट ोडशॊइऺ नऻॎ ॠ ऻॖ?

Monitor/ मॗोनटर

Printer/ मॏህक

Scanner/ ㄋॖनर

LED screen/ एलईडॎ ㄋॎन

Correct Answer :­Scanner/ ㄋॖनर 

52)

Question Stimulus :­

Which of thee is the file format of MS excel file?/ इनम७ ऺॕ कग़न एमएऺ ए鈊ॕल कॎ
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Which of thee is the file format of MS excel file?/ इनम७ ऺॕ कग़न एमएऺ ए鈊ॕल कॎ
ूॊइल ᨅॊ䐈प ऻॖ?

.msxl

.xsl

.xls

.slx

Correct Answer :­.xls 

53)

Question Stimulus :­

Which is of these is used to create, maintain, and operate data base?/ ोन꤅
ोल瘂खत म७ ऺॕ ोकऺॕ डॕटबॕऺ बनॊनॕ,  ॠऺचॊलन करनॕ, एशॠ  ॠऺशोध१त करनॕ म७ उपयख़ग करतॕ ऻ॰?

 

RDBMS

DBMS

SQL

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­SQL 

54)

Question Stimulus :­

Cash Planning helps to/ नकद यख़जनॊ म७ मदद करतॊ ऻॖ

Anticipate the future cash flows/ भोशᰈ कॕ नकदॎ ᨅशॊऻ कॎ आषॊ

Anticipate the needs of the firm/ फम१ कॎ ज䐈रतख़ ॠ कॊ पॐशॊ१नॏमॊन

Reduces the possibility of idle cash balance/ बॕकॊर नकदॎ  ॠऺतॏलन
कॎ  ॠऺभॊशनॊ कख़ कम कर दॕतॊ ऻॖ

All of these/ उपयॏ१촉 ऺभॎ
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Correct Answer :­All of these/ उपयॏ१촉 ऺभॎ 

55)

Question Stimulus :­

Which of the following is true about profit?/ ोन꤅ म७ ऺॕ कग़न ऺॊ  लॊभ कॕ बॊरॕ म७ ऺच
ऻॖ?

It exclude cash revenues/ यऻ नकद रॊजउ कख़ छख़ीतॊ ऻॖ

It exclude recievables/ यऻ ᨅॊ瘂⤈यख़ ॠ कख़ छख़ीतॊ ऻॖ

It exclude cash expenses/ यऻ नकद 䰈य कख़ छख़ीतॊ ऻॖ

None of these/ इनम७ ऺॕ कख़ई भॎ नऻॎ ॠ

Correct Answer :­It exclude cash expenses/ यऻ नकद 䰈य कख़ छख़ीतॊ ऻॖ 

56)

Question Stimulus :­

The depreciation tax shield remains unaffected by _____ Since
depreciation allowed on the book value of an asset, irrespective of its
replacement or market price, for tax purposes/ मॐ䴉㼅ॊऺ कर षॎ舉 _____ ऺॕ
अᨅभॊोशत रऻतॊ ऻॖ चॐँोक मॐ䴉㼅ॊऺ कॕ बॊद ऺॕ एक प瘂र ॠऺपो कॎ बॏक शॖ䴉ॐ पर अनॏमोत दॎ ऻॖ, इऺकॕ
ᨅोतथॊपन यॊ बॊजॊर मॐ䴉 कॎ परशॊऻ ोकए बगॖर, कर उ䬅ॕ쨉ख़ॠ कॕ ोलए।

Inflation/ मॏህॊ踋ॎोत

Deflation/ अप踋ॎोत

Recession/ मॠदॎ

None of these/ इनम७ ऺॕ कख़ई भॎ नऻॎ ॠ

Correct Answer :­Inflation/ मॏህॊ踋ॎोत 

57)

Question Stimulus :­

Capital budgeting decisions could be categorized into three decision levels.
Which of these is not one of them?/ पॐॠजॎ बजट ोनण१य तॎन ोनण१य ⌉रख़ॠ म७ शग戂क॑त ोकयॊ
जॊ ऺकतॊ ऻॖ। इनम७ ऺॕ कग़न ऺॊ उनम७ ऺॕ एक नऻॎ ॠ ऻॖ?
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Operating capital budgeting/ प瘂रचॊलन पॐॠजॎ बजट

Strategic capital budgeting/ ऺॊम瘂रक पॐॠजॎ बजट

Corporate capital budgeting/ कॊरपख़रॕट पॐॠजॎ बजट

Administrative capital budgeting/ ᨅषॊऺोनक पॐॠजॎ बजट

Correct Answer :­Corporate capital budgeting/ कॊरपख़रॕट पॐॠजॎ बजट 

58)

Question Stimulus :­

Financial planning model does not have which of the following
component?/ ोशॎय यख़जनॊ मॗडल ोन꤅ म७ ऺॕ कग़न ऺॊ घटक नऻॎ ॠ ऻॖ?

Inputs such as current financial statements/ इऺ तरऻ चॊलॐ ोश
बयॊन कॕ 䐈प म७ आदॊन

Models which define relationship between financial variables
and develops equation/ मॗडल जख़ ोशॎय चर और ऺमॎकरण ोशकोऺत
करतॊ ऻॖ कॕ बॎच  ॠऺबॠधख़ ॠ कख़ प瘂रभॊोहत करतॕ ऻ॰।

Processes/ ᨅो㼇यॊएॠ

Outputs/ आउटपॏट

Correct Answer :­Processes/ ᨅो㼇यॊएॠ  

59)

Question Stimulus :­

In ________, we shall develop an estimating equation ,that relates the
known variable to unknown variable./ ________म७ ,ऻम एक आकलन कॕ ऺमॎकरण
कख़ ोशकोऺत करतॕ ऻ॰ जख़ कॎ एक अ쀅ॊत चर कख़ 쀅ॊत चर ऺॕ  ॠऺबॠोधत करतॊ ऻॖ।

Probability analysis/ ॠऺभॊशनॊ ोश戊ॕहण

Frequency distribution/आश॑ो ोशतरण

Regression analysis/ᨅोतगमन ोश戊ॕहण

None of them/इनम७ ऺॕ कख़ई नऻॎ ॠ
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None of them/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Regression analysis/ᨅोतगमन ोश戊ॕहण 

60)

Question Stimulus :­

With respect to regression, which is the measure of the variability or
scatter of the observed values around the scatter line?/ ᨅोतगमन कॕ  ॠऺबॠध
म७,प瘂रशत१न षॎलतॊ यॊ ोबखरॊश रॕखॊ कॕ आऺपॊऺ ोच瘂谇त मॐ䴉ख़ ॠ कॊ मॊपक ܊ॊ ऻॖ?

Standard error of estimate/अनॏमॊन कॕ मॊनक �ॏोट

Standard value/मॊनक मॐ䴉

Standard deviation/मॊनक ोशचलन

Standard correlation/ मॊनक ऺऻ­ ॠऺबॠध

Correct Answer :­Standard error of estimate/अनॏमॊन कॕ मॊनक �ॏोट 

61)

Question Stimulus :­

The square root of the coefficient of determination whose sign indicates
the direction of the relationship between two variables, direct or inverse
is­/ ोन䐈पण कॊ गॏणॊॠक कॊ शग१मॐल, ोजऺकॊ ोच谇 दख़ चर कॕ बॎच  ॠऺबॠध कॎ ोदषॊ इॠोगत करतॊ ऻॖ,
उऺॕ ܊ॊ कऻतॕ ऻ॰?

Curvilinear relationship/श㼇ॎय  ॠऺबॠध

Estimating equation/आकलन ऺमॎकरण

Coefficient of correlation/ऺऻ  ॠऺबॠध गॏणॊॠक

Coefficient of determination/ोन䐈पण कॊ गॏणॊॠक

Correct Answer :­Coefficient of correlation/ऺऻ  ॠऺबॠध गॏणॊॠक 

62)

Question Stimulus :­

Which among these is a technique to determine the degree to which
variables are linearly related?/ इनम७ ऺॕ कग़न­ऺॎ एक तकनॎक, चर बॎच ऺॎधॊ  ॠऺबॠध कॊ
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variables are linearly related?/ इनम७ ऺॕ कग़न­ऺॎ एक तकनॎक, चर बॎच ऺॎधॊ  ॠऺबॠध कॊ
दजॊ१ 쀅ॊत करनॕ कॕ ोलए इ⌉ॕमॊल कॎ जॊतॎ ऻॖ?

Correlation analysis/ऺऻ  ॠऺबॠध ोश戊ॕहण

Correlation estimation/ऺऻ  ॠऺबॠध अनॏमॊन

Correlation equation/ऺऻ  ॠऺबॠध ऺमॎकरण

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Correlation analysis/ऺऻ  ॠऺबॠध ोश戊ॕहण 

63)

Question Stimulus :­

A ________is a technique for fitting a straight line through a set of points
in such a way that sum of the squared vertical distances from the N points
to the line is minimized./ ________ोकऺॎ ऺॎधॎ रॕखॊ कख़ इऺ तरऻ रखनॕ कॎ तकनॎक ऻॖ
ोजऺम७  रॕखॊ कॎ उन N ोबॠदॏओॠ ऺॕ ऊ椈ॊ१धर दॐ रॎ कॕ शग१ कॊ यख़ग कम ऺॕ कम ऻख़।

Multiple regression method/ एकॊोधक ᨅोतगमन ोशोध

Chi square method/ चॎ शग१ ोशोध

Least square method/ कम ऺॕ कम शग१ ोशोध

None of these/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Least square method/ कम ऺॕ कम शग१ ोशोध 

64)

Question Stimulus :­

In multiple­ regression analysis, the regression coefficients often become
________as the degree of correlation between the independent variable
increases,/ एकॊोधक ᨅोतगमन ोश戊ॕहण म७, ᨅोतगमन गॏणॊॠक अ鈊र दख़ उत樈 चरख़ ॠ कॕ बॎच
ऺऻ ॠऺबॠधतॊ कॎ दषॊ बुनॕ कॕ ऺॊथ ________ ऻख़ जॊतॕ ऻ॰।

More reliable/अोधक ोश餅ऺनॎय

Less reliable/कम ोश餅ऺनॎय
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Sometime more sometime less reliable /कॏ छ ऺमय अोधक कॏ छ ऺमय
कम ोश餅ऺनॎय

Equally reliable / बरॊबर ोश餅ऺनॎय

Correct Answer :­Less reliable/कम ोश餅ऺनॎय 

65)

Question Stimulus :­

________is used to detect patterns of change in statistical information
over regular intervals of time./ ________ऺमय कॎ ोनयोमत अॠतरॊल पर ऺॊॠ瘂꜊कॎय
जॊनकॊरॎ म७ प瘂रशत१न कॕ उ젅प  कॊ पतॊ लगॊनॕ कॕ ोलए ᨅयख़ग ोकयॊ जॊतॊ ऻॖ।

Time­series analysis/ ऺमय 餅॑ॠखलॊ ोश戊ॕहण

Correlation analysis/ ऺऻ ॠऺबॠध ोश戊ॕहण

Regression analysis/ ᨅोतगमन ोश戊ॕहण

All of these/ उपरख़촉 ऺभॎ

Correct Answer :­Time­series analysis/ ऺमय 餅॑ॠखलॊ ोश戊ॕहण 

66)

Question Stimulus :­

Which of these is not the kind of change or variation involved in time
series analysis/ इनम७ ऺॕ कग़न­ऺॊ ऺमय 餅॑ॠखलॊ ोश戊ॕहण म७ षॊोमल प瘂रशत१न यॊ बदलॊश कॎ
तरऻ नऻॎ ॠ ऻॖ?

Secular trend/ धम१ोनरपॕ耆 ᨅ̅ो

Cyclical fluctuation/ च㼇ॎय उतॊर­चुॊश

Seasonal variation/ मग़ऺमॎ प瘂रशत१न

Behavioral fluctuation/ 䰈शऻॊर म७ उतॊर­चुॊश

Correct Answer :­Behavioral fluctuation/ 䰈शऻॊर म७ उतॊर­चुॊश 

67)
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Question Stimulus :­

Which of these cannot be the reasons to study secular trends?/ इनम७ ऺॕ कग़न,
धम१ ोनरपॕ耆 ᨅश॑ोयख़ ॠ कॊ अ鼈यन करनॕ कॕ कॊरणख़ ॠ म७ ऺॕ नऻॎ ॠ ऻॖ?

Its study allows us to describe a historical pattern/इऺ कॕ अ鼈यन
ऺॕ ऻम७ ऐोतऻॊोऺक ᨅश॑ो कॊ शण१न करनॕ कॎ अनॏमोत ोमलतॎ ऻॖ

It permits us to project past patterns or trends into the
future/यऻ अतॎत कॎ ᨅश॑ोयख़ ॠ कख़ भोशᰈ म७ प瘂रयख़जन कॕ ोलए ऻम७ अनॏमोत दॕतॊ ऻॖ

In many situations, studying the secular trend of a time series
allows us to eliminate the trend component from the series/
कई 瘂थोतयख़ ॠ म७, एक ऺमय 餅॑ॠखलॊ कॕ धम१ ोनरपॕ耆 ᨅश॑ो कॊ अ鼈यन ऻम७ 餅॑ॠखलॊ ऺॕ
ᨅश॑ो घटक कख़ खᰈ करनॕ कॎ अनॏमोत दॕतॊ ऻॖ

All are the reasons/ऺभॎ कॊरण ऻ॰

Correct Answer :­All are the reasons/ऺभॎ कॊरण ऻ॰ 

68)

Question Stimulus :­

________is a condition in a time series in which the value of a variable is
completely unpredictable?/ ________ एक ऺमय 餅॑ॠखलॊ कॎ अशथॊ ऻॖ ोजऺ म७ एक चर
कॕ मॐ䴉 पॐरॎ तरऻ ऺॕ अᨅॊो耆त ऻ॰?

Seasonal Variation/मग़ऺमॎ प瘂रशत१न

Cyclic Fluctuation/ च㼇ॎय अ瘂थरतॊ

Irregular Variation/अोनयोमत 䐈पॊॠतर

None of them/इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Irregular Variation/अोनयोमत 䐈पॊॠतर 

69)

Question Stimulus :­

Which of these are not the forecasting methods?/ इनम७ ऺॕ कग़न पॐशॊ१नॏमॊन कॕ तरॎकॕ
नऻॎ ॠ ऻ॰?
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Judgemental methods/आलख़चनॊᰈक तरॎकॕ

Extrapolation methods/बोऻश८षन तरॎकॕ

Econometric methods /अथ१ोमतॎय तरॎकॕ

Instrumental methods/ यॠ�ोशोध तरॎकॕ

Correct Answer :­Instrumental methods/ यॠ�ोशोध तरॎकॕ 

70)

Question Stimulus :­

________are quantitative methods that use past data of a time series
variable and nothing else, except possibly time itself to forecast future
values of the variable./ ________एकमॊ�ॊᰈक ोशोध ऻ॰ जख़ कॎ ऺमय 餅ॠखलॊ कॕ चर कॕ
अतॎत कॕ डॕटॊ कॕ अलॊशॊ और कॏ छ उपयख़ग नऻॎ ॠ करतॊ , ोऺशॊय उऺ ऺमय कॕ जख़ कॎ पॐशॊ१नॏमॊन कॕ चरख़ ॠ
कॎ मॊन ऻॖ |

Judgemental methods/आलख़चनॊᰈक तरॎकॕ

Extrapolation methods/बोऻश८षन तरॎकॕ

Econometric methods /अथ१ोमतॎय तरॎकॕ

Instrumental method/ यॠ�ोशोध तरॎकॕ

Correct Answer :­Extrapolation methods/बोऻश८षन तरॎकॕ 

71)

Question Stimulus :­

Linear Programming is an important ________of a larger class of models
called mathematical programming models./ रॖ瘂खक 㼇मॊदॕषन, एक बीॕ शग१ कॕ
ᨅोत䐈प कॊ एक मऻ딇पॐण१________ऻॖ, ोजऺॕ गणॎोतय 㼇मॊदॕषन, भॎ कऻॊ जॊतॊ ऻॖ|

Super Set/ अोध ऺमॏꌂ܉

Universal Set/ ऺॊश१ ऺमॏꌂ܉

Subset/ ऺऻ ऺमॏꌂ܉

Disjoint Set / अ ॠऺबॠोधत ऺमॏꌂ܉
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Correct Answer :­Subset/ ऺऻ ऺमॏꌂ܉ 

72)

Question Stimulus :­

There are three important properties that LP models possess that
distinguish them from general mathematical programming models. Which
of the following is not that property? ऺॊमॊഈ गोणतॎय ᨅख़瀅ॊोमॠग मॗडल ऺॕ अलग एल.पॎ.
मॗडल म७ तॎन मऻ딇पॐण१ गॏण ऻ॰। ोन꤅ म७ ऺॕ शख़ गॏण कग़न­ऺॊ  नऻॎ ॠ ऻॖ?

Proportionality/ऺमॊनतॊ

Additivity/ यख़गॊ瘂ᰈक

Divisibility/भॊजक딇

Distributive property/ोशतरण गॏण

Correct Answer :­Distributive property/ोशतरण गॏण 

73)

Question Stimulus :­

Which of the following is not a database function defined in Microsoft
Excel?/ ोन꤅ोल瘂खत म७ ऺॕ कग़न­ऺॊ मॊइ㼇ख़ऺॗ︉ ए鈊ॕल म७ प瘂रभॊोहत डॊटॊबॕऺ कॊय१ नऻॎ ॠ ऻॖ?

DCOUNT

DCOUNTA

DAVERAGE

DMAX (144)

Correct Answer :­DMAX (144) 

74)

Question Stimulus :­

A ________is a related set of tables, where each table is rectangular
arrangement of fields and records./ एक ________ ऺॊरणॎ ऺॕ  ॠऺबॠोधत ऺमॏꌂ܉ ऻॖ,
जऻॊँ ᨅॕक ऺॊरणॎ  अोभलॕखख़ ॠ कॎ आयतॊकॊर 䰈शथॊ ऻॖ।
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relational database/  ॠऺबॠध कॊ डॕटॊबॕऺ

tabular database/ ऺॊरणॎब蔇 डॕटॊबॕऺ

rectangular database/ आयतॊकॊर डॕटॊ बॕऺ

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­relational database/  ॠऺबॠध कॊ डॕटॊबॕऺ 

75)

Question Stimulus :­

The ________explain the behavior of output in response to a proportional
and simultaneous change in inputs./ आदॊनख़ ॠ म७ एक आनॏपॊोतक और एक ऺॊथ प瘂रशत१न
कॕ जशॊब म७ उ꤇ॊदन कॕ 䰈शऻॊर कॎ 䰈ॊ꜊ॊ ________ऻॖ|

Laws of returns to scale/ अनॏमॊोप ᨅोतफल कॊ ोनयम

Laws of inputs/ आदॊनख़ ॠ कॊ ोनयम

Laws of cost effectiveness/ लॊगत ᨅभॊशषॎलतॊ कॊ ोनयम

None of them/ इनम७ ऺॕ कख़ई भॎ नऻॎ ॠ

Correct Answer :­Laws of returns to scale/ अनॏमॊोप ᨅोतफल कॊ ोनयम 

76)

Question Stimulus :­

Which of these is not the survey methods of demand forecasting?/ इनम७ ऺॕ
 ________,मॊॠग कॎ भोशᰈशॊणॎ कॕ ऺश८耆ण कॊ तरॎकॊ नऻॎ ॠ ऻॖ।

Complete enumeration/पॐरॊ गणन ህॊरॊ

End use method/ अॠत कॊ उपयख़ग ोशोध

Delphi Method/ डॕ吋ॎ ोशोध

Diffusion indices(180)/ ᨅऺॊर  ॐऺचकॊॠक

Correct Answer :­Diffusion indices(180)/ ᨅऺॊर  ॐऺचकॊॠक 
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77)

Question Stimulus :­

Which of these is not the kinds of returns to scale?/ इनम७ ऺॕ  कग़न अनॏमॊोप
ᨅोतफल कॊ   ᨅकॊर नऻॎ ॠ ऻॖ?

Increasing returns to scale/ बुतॊ अनॏमॊोप ᨅोतफल

Constant returns to scale/ 瘂थर अनॏमॊपॎ ᨅोतफल

Random variable returns to scale/ अोनयोमत चर अनॏमॊपॎ ᨅोतफल

Diminishing returns to scale/ 㼅ॊऺमॊन अनॏमॊपॎ ᨅोतफल

Correct Answer :­Random variable returns to scale/ अोनयोमत चर अनॏमॊपॎ
ᨅोतफल 

78)

Question Stimulus :­

The ________ may be defined as the expected returns form the second
best use of the resources which are forgone due to scarcity of resources./
ॠऺऺॊधनख़ ॠ कॎ कमॎ कॕ कॊरण ॊगॕ ᄅए  ॠऺऺॊधनख़ ॠ कॕ दॐ ऺरॕ ऺश१餅ॕစ उपयख़ग ऺॕ ऺ⌉ॊोशत ᨅोतदॊन कख़
________कॕ 䐈प म७ प瘂रभॊोहत ोकयॊ जॊ ऺकतॊ ऻॖ।

Opportunity cost/ अशऺर लॊगत

Reducible cost/ कम करनॕ यख़ᨈ लॊगत

Production cost/ उ꤇ॊदन लॊगत

None of them/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Opportunity cost/ अशऺर लॊगत 

79)

Question Stimulus :­

Opportunity cost is also ________/ अशऺर लॊगत ________भॎ ऻॖ।

Reducible cost/ कम करनॕ यख़ᨈ लॊगत

Production cost/ उ꤇ॊदन लॊगत
Alternative cost/ शॖक瘂क लॊगत
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Alternative cost/ शॖक瘂क लॊगत

None of them/ इनम७ ऺॕ कख़ई भॎ नऻॎ ॠ

Correct Answer :­Alternative cost/ शॖक瘂क लॊगत 

80)

Question Stimulus :­

Which of these is not included in fixed costs?/ इनम७ ऺॕ कग़न­ऺॊ ोनधॊ१瘂रत लॊगत म७
षॊोमल नऻॎ ॠ ऻॖ?

Cost of managerial staff/ ᨅबॠधकॎय �ॊफ कॎ लॊगत

Depreciation of machinery/ मषॎनरॎ कॊ मॐ䴉㼅ॊऺ

Maintenance of land/ भॐोम कॊ रखरखॊश

All of these are included/ यॕ ऺभॎ षॊोमल ऻ॰

Correct Answer :­All of these are included/ यॕ ऺभॎ षॊोमल ऻ॰ 

81)

Question Stimulus :­

Long run average cost curve is also known as________/ लॠबॕ ऺमय कॕ ोलए 
औऺत लॊगत श㼇(Long run average cost curve) ________कॕ 䐈प म७ भॎ जॊनॊ जॊतॊ ऻॖ।

Envelope curve/ ोलफॊफॊ श㼇

Planning curve/ यख़जनॊ श㼇

Both of them/ शख़ दख़नख़ ॠ

None of them/ इनम७ ऺॕ कख़ई भॎ नऻॎ ॠ

Correct Answer :­Both of them/ शख़ दख़नख़ ॠ 

82)

Question Stimulus :­

Break even analysis is also known as ________ / ऺम ोश눉ॕद ोश戊ॕहण कख़

_______  कॕ 䐈प म७ भॎ जॊनॊ जॊतॊ ऻॖ ।
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_______  कॕ 䐈प म७ भॎ जॊनॊ जॊतॊ ऻॖ ।

Profit contribution analysis/लॊभ यख़गदॊन ोश戊ॕहण

Profit distribution analysis/ लॊभ ोशतरण ोश戊ॕहण

Profit proportional distribution/ लॊभ आनॏपॊोतक ोशतरण

Profit enhancement analysis/ लॊभ बुॊनॕ कॕ ोश戊ॕहण

Correct Answer :­Profit contribution analysis/लॊभ यख़गदॊन ोश戊ॕहण 

83)

Question Stimulus :­

________Is an important analytical technique used to study the
relationship between the total costs, total revenue and total profits and
losses over the whole range of stipulated output./ ________एक मऻ딇पॐण१
ोश戊ॕहणॊᰈक तकनॎक ऻॖ जख़  कॏ ल लॊगत, कॏ ल रॊजउ और कॏ ल लॊभ तथॊ ऻॊोन कॕ ोनधॊ१瘂रत उ꤇ॊदन
कॎ पॐण१ 餅�खलॊ कॕ बॎच  ॠऺबॠधख़ ॠ कॊ अ鼈यन करनॕ कॕ ोलए  कॊ इ⌉ॕमॊल ोकयॊ जॊतॊ ऻॖ।

Break even analysis/ ऺम ोश눉ॕद ोश戊ॕहण

Profit distribution analysis/ लॊभ ोशतरण ोश戊ॕहण

Profit proportional distribution/लॊभ आनॏपॊोतक ोशतरण

Profit enhancement analysis/ लॊभ बुॊनॕ कॕ ोश戊ॕहण

Correct Answer :­Break even analysis/ ऺम ोश눉ॕद ोश戊ॕहण 

84)

Question Stimulus :­

Break Even analysis is based on the assumption that cost and revenue
functions are________/ ऺम ोश눉ॕद ोश戊ॕहण इऺ धॊरणॊ पर आधॊ瘂रत ऻॖ कॎ लॊगत और
रॊजउ फलन एक ________ ऻॖ।

Downward parabola/ अधख़गॊमॎ परशलय

Upward parabola  /ऊ椈१गॊमॎ परशलय

Linear/ रॖ瘂खक
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Elliptical/ शलयॊकॊर

Correct Answer :­Linear/ रॖ瘂खक 

85)

Question Stimulus :­

As a rule of market structure and pricing decisions, higher the degree of
competition, the ________ the firm’s degree of freedom in pricing
decision and control over the price of its own product/ बॊजॊर  ॠऺरचनॊ और मॐ䴉
ोनधॊ१रण कॕ ोनण१य कॕ एक ोनयम कॕ अनॏऺॊर, ᨅोतयख़ोगतॊ कॊ दजॊ१ उ䰈 ऻख़नॕ पर, खॏद कॕ उ꤇ॊद कॎ
कॎमत पर मॐ䴉 ोनधॊ१रण ोनण१य और ोनयॠ�ण म७ उतॠ�तॊ कॎ फम१ कॊ दिॊ१ भॎ ________ ऻख़गॊ।

Higher/ उ䰈तर

Lower/ ഈॏनतम

Independent from market/ बॊजॊर ऺॕ उतॠ�

None of them/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Lower/ ഈॏनतम 

86)

Question Stimulus :­

Under ________where degree of competition is less than one, the firms
have some discretion in setting the price of their products/________ कॕ
तऻत, जऻॊॠ ᨅोतयख़ोगतॊ कॊ दिॊ१ एक ऺॕ कम ऻॖ, कॠ पोनयख़ ॠ कख़ अपनॕ उ꤇ॊदख़ ॠ कॎ कॎमत तय करनॕ कॊ
अोधकॊर ᨅॊ⤈  ऻॖ।

Monopolistic competition/ एकॊोधकॊर ᨅोतयख़ोगतॊ

Oligopoly/ अॊोधकॊर

Perfect competition/ यख़ᨈ ᨅोतदशॠ䬅ॎ

None of them/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Monopolistic competition/ एकॊोधकॊर ᨅोतयख़ोगतॊ 

87)
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Question Stimulus :­

What is not the characteristics of perfect competition?/ इनम७ ऺॕ ܊ॊ पॐण१
ᨅोतयख़ोगतॊ कॎ ोशषॕहतॊ नऻॎ ॠ ऻॖ?

A large number of sellers and buyers/ ोश㼇ॕतॊओॠ और खरॎदॊरख़ ॠ कॎ एक
बीॎ  ॠऺ꜊ॊ

Homogeneous products/ ऺजॊतॎय उ꤇ॊद

Large number of transportation facility/ प瘂रशऻन  ॏऺोशधॊ कॎ बीॎ
ॠऺ꜊ॊ ऻॖ

Perfect mobility of factors of production/ उ꤇ॊदन कॕ कॊरकख़ ॠ कॎ ऺऻॎ
गोतषॎलतॊ

Correct Answer :­Large number of transportation facility/ प瘂रशऻन  ॏऺोशधॊ कॎ
बीॎ  ॠऺ꜊ॊ ऻॖ 

88)

Question Stimulus :­

________Is defined as a market structure in which there are a few sellers
selling a homogeneous or differentiated product. /________, बॊजॊर कॎ एक
ॠऺरचनॊ कॕ 䐈प म७ प瘂रभॊोहत ोकयॊ जॊतॊ ऻॖ ोजऺम७ शऻॊँ कॏ छ ोश㼇ॕतॊ एक ऺजॊतॎय यॊ अलग­अलग

उ꤇ॊद बॕच रऻॕ ऻ॰।

Monopoly/ एकॊोधकॊर

Oligopoly/ अॊोधकॊर

Micropoly/  ॐऺ넉ॊोधकॊर

All of the above/ उपरख़촉 ऺभॎ

Correct Answer :­Oligopoly/ अॊोधकॊर 

89)

Question Stimulus :­

Which is not the sources of oligopoly?/ कग़न ऺॊ अॊोधकॊर कॊ 섆ख़त नऻॎ ॠ ऻॖ?

Huge capital investment/ ोशषॊल पॐॠजॎ ोनशॕष
Economies of scale/ पॖमॊनॕ कॎ अथ१䰈शथॊएॠ
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Economies of scale/ पॖमॊनॕ कॎ अथ१䰈शथॊएॠ

Patent rights/ पॕट७ट अोधकॊर

All of them are the sources/ यॕ ऺभॎ 섆ख़त ऻ॰

Correct Answer :­All of them are the sources/ यॕ ऺभॎ 섆ख़त ऻ॰ 

90)

Question Stimulus :­

Which is not the oligopoly models?/ कग़न ऺॊ अॊोधकॊर मॗडल नऻॎ ॠ ऻॖ?

Cournots duopoly model/ कॗन瘂ट ህयॊोधकॊर मॗडल

Sweezy’s kinked demand curve model/ उॎि कॕ ोकॠ 鐄ड मॊॠग श㼇
मॗडल

Prisoner’s dilemma/ कॖदॎ कॎ दॏोशधॊ

Merger model/ ोशलय मॗडल

Correct Answer :­Merger model/ ोशलय मॗडल 

91)

Question Stimulus :­

GNP is estimated on the basis of ________/ ऺकल घरॕलॐ उ꤇ॊद कॊ अनॏमॊन _____
आधॊर पर लगॊयॊ गयॊ ऻॖ।

Product flows/ उ꤇ॊद ᨅशॊऻ

Money income flows /रॊोष आय ᨅशॊऻ

Money expenses flows/ रॊोष 䰈य ᨅशॊऻ

All of the above/ उपरख़촉 ऺभॎ

Correct Answer :­Product flows/ उ꤇ॊद ᨅशॊऻ 

92)

Question Stimulus :­

NNP is the same as ________/ एनएनपॎ ________कॕ  ऺमॊन ऻॖ।
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NNP is the same as ________/ एनएनपॎ ________कॕ  ऺमॊन ऻॖ।

National income at factor costs/ कॊरक लॊगत पर रॊစ३ ॎय आय

National income at product cost/ उ꤇ॊद लॊगत ऺॕ रॊစ३ ॎय आय

National income at market cost/ रॊစ३ ॎय आय बॊजॊर लॊगत

National income at outside boundaries/ रॊစ३ ॎय आय कॕ बॊऻर ऺॎमॊएँ

Correct Answer :­National income at factor costs/ कॊरक लॊगत पर रॊစ३ ॎय आय 

93)

Question Stimulus :­

Following the notions of a national economy, national income may be
measured by three different corresponding methods. Which of these is not
among them?/ एक रॊစ३ ॎय अथ१䰈शथॊ कॕ ोशचॊरख़ ॠ कख़ मॊनतॕ ᄅए, रॊစ३ ॎय आय कख़ तॎन अलग
अलग तरॎकख़ ॠ ऺॕ मॊपॊ जॊ ऺकतॊ ऻॖ। ोन꤅ म७ ऺॕ कग़न उनम७ ऺॕ नऻॎ ॠ ऻॖ?

Net product method/ षॏ蔇 उ꤇ॊद ोशोध

Factor income methods/ कॊरक आय ोशोध

Expenditure methods/ 䰈य ोशोध

None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­None of these/ इनम७ ऺॕ कख़ई नऻॎ ॠ 

94)

Question Stimulus :­

According to Keynesian theory, the equilibrium level of national income is
determined where aggregate demand(AD) is ________Aggregate
supply(AS) / कॎनॕोऺयन )कॕोनोषयन (ोऺ蔇ॊॠत कॕ अनॏऺॊर, रॊစ३ ॎय आय कॊ  ॠऺतॏलन ⌉र शऻॊँ
ोनधॊ१瘂रत ोकयॊ जॊतॊ ऻॖ जऻॊॠ कॏ ल मॊॠग(AD)  कॏ ल आपॐोत१ (AS) ऺॕ ________ ऻख़ ।

Equals/ बरॊबर

Greater than/ अोधक

Less than/ कम

Variable/ प瘂रशत१नषॎल
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Variable/ प瘂रशत१नषॎल

Correct Answer :­Equals/ बरॊबर 

95)

Question Stimulus :­

________ refers to government policy of changing its taxation and public
expenditure programmes intended to achieve certain predetermined
objectives/________,कॏ छ पॐश१ ोनधॊ१瘂रत ल漉ख़ॠ कख़ ᨅॊ⤈ करनॕ कॕ उ䬅ॕ쨉 ऺॕ अपनॕ करॊधॊन
और ऺॊश१जोनक 䰈य कॊय१㼇मख़ ॠ कख़ बदलनॕ कॎ ऺरकॊर कॎ नॎोत कख़ दषॊ१तॊ ऻॖ।

Production policy/ उ꤇ॊदन नॎोत

GST/ जॎएऺटॎ

Taxation policy/ करॊधॊन नॎोत

Fiscal policy/ रॊजकख़हॎय नॎोत

Correct Answer :­Fiscal policy/ रॊजकख़हॎय नॎोत 

96)

Question Stimulus :­

Tax­revenue and public expenditure policies are also jointly called as/ टॖ鈊
रॊजउ और ऺॊश१जोनक 䰈य नॎोतयख़ ॠ कख़   ॠऺयॏ촉 䐈प ऺॕ कऻॊ जॊतॊ ऻॖ­

Government policy of taxation/ करॊधॊन कॎ ऺरकॊर कॎ नॎोत

Service tax policy/ ऺोश१ऺ टॖ鈊 नॎोत

Budgetary policy/ बजटॎय नॎोत

None of them/ इनम७ ऺॕ कख़ई भॎ नऻॎ ॠ

Correct Answer :­Budgetary policy/ बजटॎय नॎोत 

97)

Question Stimulus :­

Fiscal policy of the government is so formulated that it generates
additional purchasing power during depression and it contracts purchasing
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power during the period of expansion. It is also known as ________/
ऺरकॊर कॎ रॊजकख़हॎय नॎोत इऺ ᨅकॊर तॖयॊर कॎ गई ऻॖ, तॊोक यऻ अशऺॊद कॕ दग़रॊन अोत瘂र촉 㼇य
ष瘂촉 उ꤇瘅 करॕ और ोश⌉ॊर कॎ अशोध कॕ दग़रॊन 㼇य ष瘂촉 कख़  ॠऺकॏ ोचत करॕ । यऻ 
________कॕ  䐈प म७ भॎ जॊनॊ जॊतॎ ऻॖ।

Fiscal policy/ रॊजकख़हॎय नॎोत

Budgetary policy/ बजटॎय नॎोत

Counter­cyclical policy/ कॊउॠटर च㼇ॎय नॎोत

None of them/ इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Counter­cyclical policy/ कॊउॠटर च㼇ॎय नॎोत 

98)

Question Stimulus :­

Which of these is not the traditional monetary instruments through which
a central bank carries out the monetary policies?/इनम७ ऺॕ कग़न  पॊरॠप瘂रक मग़ोህक
उपकरणख़ ॠ कॕ मॊ鼈म ऺॕ क७ ህॎय ब॰क मग़ोህक नॎोतयख़ ॠ कॊ  ॠऺचॊलन नऻॎ ॠ करतॊ ऻॖ?

Open market operations/ खॏलॊ बॊजॊर प瘂रचॊलन

Changes in bank rate/ ब॰क दर म७ प瘂रशत१न

Changes in statutory reserve ratios/ ऺॊॠोशोधक आरो耆त अनॏपॊत म७
प瘂रशत१न

All of these are instruments / यॕ ऺभॎ उपकरण ऻ॰

Correct Answer :­All of these are instruments / यॕ ऺभॎ उपकरण ऻ॰ 

99)

Question Stimulus :­

Which of these is not the categories of capital account items?/ इनम७ ऺॕ कग़न­
 ऺॊपॐॠजॎ खॊतॊ मदख़ ॠ कॎ एक 餅ॕणॎ नऻॎ ॠ ऻॖ?

Short term capital movement/ लघॏ अशोध कॕ पॐॠजॎ आॠदख़लन

Changes in stock market/ षॕयर बॊजॊर म७ प瘂रशत१न

Long term capital movements/ दॎघ१कॊोलक पॐॠजॎ आॠदख़लनख़ ॠ
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Long term capital movements/ दॎघ१कॊोलक पॐॠजॎ आॠदख़लनख़ ॠ

Changes in the gold and exchange reserves/ ऺख़नॕ और मॏህॊ भॠडॊर म७
प瘂रशत१न

Correct Answer :­Changes in stock market/ षॕयर बॊजॊर म७ प瘂रशत१न 

100)

Question Stimulus :­

When total receipts do not match with total payment obligations of the
accounting period, this is the position of ________in the balance of
payments/ जब लॕखॊॠकन अशोध कॎ कॏ ल ᨅॊ瘂⤈यॊँ कॏ ल भॏगतॊन दॊोय딇ख़ ॠ कॕ ऺॊथ मॕल नऻॎ ॠ करतॎ ऻ॰,
तख़ इऺ 瘂थोत कख़ BoP म७ ________ कऻॊ जॊतॊ ऻॖ ।

Disequilibrium/अ ॠऺतॏलन

Mismatch/ बॕमॕल

Fraud/ धख़खॊ

None of them/ इनम७ ऺॕ कख़ई भॎ नऻॎ ॠ

Correct Answer :­Disequilibrium/अ ॠऺतॏलन 
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